REIWA KANJI GROUP




REIWA KANJI GROUP

BEom / EEEEEM

Publish product/common note

{35 FA A 4 3%

Read before use

% E Select

A Warmng

1. mﬂﬂﬁConflrm specifications

ARFLERNCR, RAERSNALG (SRAERE ) BAMRIT
B, EENMBEEH”SABAEE, ESHSHTHIETRE
B35, BAE@EA, NSR~RME,

ERERZS (FHZT ) LUMIRERN, R5XAFKER.

The products on this catalogue are designed for using in compressed air
systems(including vacuum systems).If the pressure and temperature exceed
the range of product specification, will lead to poor pneumatic components or
damage, pls do not us. should refer to product specifications.

When using fluid besides compressed air(including vacuum),shall contact
with our company.

|

223 |nstallation

A Warnlng

1. 33H# A5 BA Buser' s guide

HFRRFERERERRPAENAFTOEM L, REFRHF

ER. EERTYE, EAHEBTER.

On the basis of reading and understanding the contents of the instructions,
then installation and use the product. In the meanwhile, keep the product in
good condition, so that we can use it at any time.

2“‘%&#‘ %= [B]Make sure to maintain space

ERREFARHOBESE,

Be sure to maintain the necessary space for inspection.

3.RER, BEFEHERERL,

When installing,press the recommended torque to tighten the threads.

|

EL & Piping

=

~
A Attention

1. EEZE{WI{'ﬁHping before work

Bie sy Wik B My tNHIR, DA, R,
Should be fully blown or wash the tube at the end of cutting.cutting oil dust and
soon

5 Eﬁﬁ H{i ﬁﬁﬁ*s‘mallng tape winding method

AENEELEREERNBEFTATHEERANBERNE
HERARAREA.

WAEHGN, ROBAMERH 5-2  REFEGEHT,
Piping and pipe fittings are threaded. Do not allow piping threads and seal
taps to be mixed into piping.

When using a sealing tape, the front end or the threaded part should be left
with 1.5-2 pitch non-wound sealing tape.

|

=iEGas source

A Warmng

1. X F ITE 4 Fiabout the working medium

IENMRIAERZS, EAERENLIMREE, ES5ELFKE.
X {56 R 8 P A O 7= R, T HE (B A A IR B B AR R AA

The working medium is compressed air.Use fluid besides compressed air,pls
contact with our company.

For fluids that use a common fluid,the fluid that may be used should be
confirmed by our company.

. %7K % B935S condensed water and more occasions

ERSShEABSREA, REASHTHNETR, NES
SHREZAEES S TRENSEk B K.

Compressed air containing a lot of condensate, will cause pneumatic
components not work well, air filters shall be installed before the air dryer
and condensate collector.

3. #% &7k A HEHS B # Condensate discharge management

—B eSS nedRk, wRABREHON, B

SHTHHMETR,
HBeRAMERTHFFRENGS, BEATADMANEST

.
ggjﬁE“tﬂflﬁlm#ﬂiﬁ. weEFLAN ERESSHAL

Once the condensed water in the air filter is forgotten, the condensate will
flow to the outlet side, causing the pneumatic components to malfunction.
Discharge of condensate management work difficult situation, hope to use
automatic drainage with air filter.

For details of the quality of compressed air, pls refer to our company' s
compressed air purification system.

. EXTFERS qAbnul compressed air

E#=SH, ESHLLGR. SFEFNRANSAR. 9. B
MiESES, SEHSHTHNBHERRLRE, HAER®A,

In compressed air, if it is containing chemicals, organic solvents synthetic oil,
salts, corrosive gases, etc. it may cause malfunction or damage to pneumatic
components. pls do not use.

‘EfﬁﬂsiﬁOperation environment

|

A K

1. FERTHREABESHE. LFHER. BK. KBEKFEEOHREPAME

Warmng

iR Rm B

1.Do not use in places with corrosive gases, chemicals, seawater, water and
water vapor or in places where the above substances are listed.

. BXHESHIBHAT, BiEHAX.

Direct sunlight should not be allowed

3. RER TR EMFH .

Do not use in the place which will create vibration or shocks

AERTFHEHRR, ZEHREBIGHH.

Do not use hot places around the Radiant heat

|

Z‘E#'ﬁ'c'ﬁMaintenance

A

CHEPRIERT, REEME AR AH A S WiET

Warmng

For maintenancae, follow the steps in the instruction manual,

—BERLR, 2SBT4NRENDETRNUBE.

Once used in errors,will lead to the operation of components and devices bad
or damaged.

. 431 T 1EMaintenance work

EHE=S—BEAXREGRAN., BEHTFmRMAME, EEHERD
;gﬂ?ﬁﬁl{ﬁﬁ. WEATRANSHTHARINDIRANSRE
Once the compressed air is used in errors, it is dangerous. Be comply with
products specifications. The work of replace the filter element and other
maintenance, pls carry on after having sufficient knowledge and experience in
pneumatic components,

i ?Qﬂ 7.k HE HicCondensate discharge

SET IR F ALY S FOk EEMHER

Air filters,etc shall discharge the condensale in regular time.

§ Q‘Eﬂﬁﬂ'ﬂ{]ﬁ#Maintenanco before maintenance

HT~GZE, LANFERR, SIEHS, IAERTEANESRS

], FRABLATFASIRE.

Before removing the product, the power must be switched off, the air supply
stopped, the compressed air from the piping has run out of all, and confirm it
has in air situation.

. ﬁMEWIﬁ:‘The work after maintenance

=¥, R, NiEE, BESENER, #TELONERERR
SkE, ENLERSANTHHERER, WAEEH, —EE
MINREEREEER.

Installation, repair, transformation, access to air and power, check the
appropriate function and leak. If you hear a leak or component action is not
normal, do not use. Be sure to confirm that the installation is correct before
use.

L BUES RS TR KA S .

It is forbidden to decompose and modify the component body part.




REIWA KANJI GROUP

-@-‘fﬁﬁ%ﬁ Unit conversion table

(ZEH B 25 ) B (L e ST Y S1 R L)
{(American and imperial units converted into Sl units)
KEBAL [E A feﬁlﬂﬁﬁt "
Length unit Area unit olume uni
1in = 254 mm 1in* = 6.45 cm? 1 litre = 0.001 m?*
1f = 03048 1ft? = 0.093 m? 1 culft. = 0.0283 m?
1 mile = 16093 m 1 cu.in, = 1639 cm®
1micon = 10° m ENH$ 1 galmp) = 4546 L
Pressure unit 1 gal(us) = 379 L
58 &R 1psi = 689 kPa 1 fluid oz(imp) = 28.41 mL
Mass unit 1 kgflcm? = 0807 kPa 1 fluid oz.(us) = 2957 mL
11b = 4536 ¢ 1 bar = 100 kPa
1 cwt = 508 kg 1 bar = 145 psi ﬁﬂﬁ‘i
1 ton(imp) = 1016 kg 1 atmosphere = 981 kPa Force unit
1 ton(us) = 9072 kg 1" (STANDARD) = 10133 kPa 1 Ibf = 445 N
1 tonne = 1000 kg 1 cm water = 97.89 Pa 1 kgf = 981 N
1 in water = 24864 Pa 1 kp(kilopond) = 9.81 N
HiE ﬁ‘[_\"i 1mmmercury = 1333 Pa 1 poundal = 1383 mN
Torque unit 1 in mercury = 339 kPa
1 inb = 0113 Nm 1 Torr = 1333 Pa
1 ftib = 135 N 1 ft water = 0.0298 Dbar N
- IhE B4 (Th / AtiE])
1 kgm = 9807 Nm 1 bar = 3333 ftwater Power unit(power/time)
1 ft: | = 0.0421 N-
EEuRT SEE Yo 1ibfUsec = 1356 W
W ERER BT 1kgmisec = 9807 W
IS EFET Power and energy unit 1 Niees: = 4 W
Temperature unit 1lbft = 1356 A 1 Joule/sec = 1 w
(F-32)x59 = 1Nm =1 J 1HP(imp) = 7457 W
Lo S 1kgm =9807  J
1 kW-hr = 3.6 MJ
il %lﬁ;i Abb?g\ﬁtton
Cvfl = /kifi 8 (US gal/min), Z 60°FF, REBEFEAH1psitt @I IMABHMKEEME.
kvii = kit & (L/min), #£20CTF, R&EEEH1kglicm BIIHETE HOKREME. Pascal Pa
KV{& = kit @(m¥min), #£20CTF, 2% EH 1kgf/lcm’R Wi T T8 H ARk & EE. i
S.T.P=ir#tiRERERN ewten
(0T R 101.3kPa %% ) - m
N.T.P=ERBEREN
(20C B 101.3kpa &3t EH) litre L
M.S.C=HItRAERR
(15T B 101.3kPa @xfE ) wat w
ANR=: 20 TRIAXRHE : 65%, [N HXSENO. IMPatik s en N
CV value= water flow(US gal/min). Under 60f, flow customization through a valve with a differential pressure of 1psi.
kv value= water flow(L/min). Under 20c, flow customization through a valve with a differential pressure of 1psi. Joule i
KV value= water flow(m*/min). Under 20c, flow customization through a valve with a differential pressure of 1psi.
S.T.P= Standard temperature and pressure (0C and 101.3kpa absolute pressure) Megajoule MJ
N.T.P= Normal temperature and pressure (20T and 101.3kpa absolute pressure) ”
M.S.C= Metric standard conditions (15C and 101.3kpa absolute pressure) Kelvin K
ANR=temperature:20T and Relative humidity:65%, The state of 0.1MPa at atmospheric pressure

Z{H#H Equivalent conversion

Ak B BN = SN SN =N = N

psi = 6.895 kPa = 0.07 kgffcm?= 0.06895 bar = 0.0703 atm
standard atmosphere = 14.7 psi = 101.3 kPa = 1.01325 bar

kgflem? = 98.07 kPa = 0.09807MPa= 14.22 psi = 28.96 ins mercury
ftlb = 0.13826 kgf-m = 1.356 N-m

L = 1000 cm®= 1.7598 pint = 10° mm?

tonne = 1000 kg = 0.984 ton = 2205 Ib

m’= 10% cm?

cu f/min. = 0.0283 m¥min = 28.3 I/min

Pa = 1 N/m?




REIWA KANJI GROUP

SHERHATERE

Calculation method of cylinder theoretical output

F

P

X A

|
SEW it A(kgl) J

heoretical output of cylinde

[
T{EE h(kgl/cm®)

Working pressure

I
ERZE@R(CM)

Piston compression area

mise =8 sk
povonons
QHCyiinder T 1 T T
‘ b oY M \
sSuHe FEFNE W FEWH mﬁnﬁafuﬂ..ﬁ
Cylinder bore P"‘"I"”"’ Action pattern P o) L | I I
outar diameter | o1 0.2 ' 0.3 0.4 0.5 J 0.6 0.7 0.8 0.9
! W | ! |
Lateral 2.01 201 | 402 | 603 | 804 | 1005 | 1206 | 14.07 - -
!ﬂ]ﬂ pressure
16 6 Double acting
o 1.81 181 | 362 | 543 | 7.24 | 905 | 10.86 | 12567 - -
E#
Lateral 3.14 314 | 828 | 942 | 1256 | 1570 | 18.84 | 21.98 | 2512 | 28.26
!mﬂ pressure
20 8 Double acting
1 2.64 264 | 528 | 7.92 | 1056 | 1320 | 1584 | 1848 | 2112 | 23.76
[
Lateral 4.90 490 | 9.80 | 1470 | 19.60 | 2450 | 29.40 | 34.30 | 39.20 | 44.10
25 10 HaHn pressure . |
Double acting
Pk e 412 412 | 824 | 1236 | 1648 | 2060 | 2472 | 28584 | 3206 | 37.08
Em
Lateral 8.04 8.04 | 16.08 | 2421 | 3216 | 40.20 | 48.24 | 56.28 | 64.32 | 72.36
32 12 !iﬂlﬂ plasnie i 4 " 4
Double acting
plim 6.09 6.09 | 13.80 | 2070 | 27.60 | 3450 | 41.40 | 48.30 | 5520 | 62.10
&
Lataral 12.56 12.56 | 25.12 | 37.68 | 50.24 | 62.80 | 75.36 | 87.92 | 100.24 | 113.04
40 16 T E pressure | | | | 1
Double acting
oo 10.55 10.55 | 2110 | 3165 | 4220 | 5275 | 63.30 | 73.85 | 84.40 | 94.95
B
Lateral 19.63 19.63 | 3026 | 58.89 | 7852 | 98.15 | 117.78 | 137.41 | 157.04 | 176.67
- 5 EapR | pressure | | | | |
Double acting
o 16.49 16.49 | 32.98 | 49.47 | 6596 | 8245 | 98.94 | 11543 | 139.92 | 148.41
i)
Lateral 31147 3117 | 6234 | 93.51 | 12468  155.85 | 187.02 | 218.19 | 249.36 | 280.53
63 20 !aﬂ pressure ! 1
Ponpand. | a 28.03 2803 | 5606 | 84.09 | 11212 | 140.15 | 168.18 | 196.21 | 22424 | 252.27
Pull side 7 % i A ' g & 3 " &
BN
Lateral 50.26 50.26 | 100.52 | 150.78 | 201.04 25130 | 301.56 | 351.82 | 402.08 | 452.34
80 25 o pressure |
S | aw 45.36 4536 | 90.72 | 136.08 ‘ 181,44 | 226.80 | 272.16 | 317.82 | 362.88 | 408.24
Em ‘
Lateral 78.53 78.53 | 157.06 | 23559 | 31412 | 39265 | 417.18 | 54971 | 628.24 | 706.77
100 25 sy |__pressure
Double acting Eod )
o 71.47 7147 | 142.04 | 214.41 | 26288 | 357.35 | 428.82 | 50029 | 571.76 | 643.23
EW
Latoral 122.72 12272 | 245.44 | 368.16 ‘ 490.88 | 613.60 | 736.32 | 859.04 | 981.76 | 1104.48
125 32 .a]g pressure
Double acting Eod. ]
o 114.68 114,68 | 229.36 | 344.04 | 458.72 @ 537.40 | 688.08 | 80276 | 917.44 | 1032.12
EMm
Lataral 201.06 201.06 | 40212 | 603.18 | 80424 | 100530 | 1206.36 | 1407.42 | 1608.48 | 1808.54
160 40 o pressure
_——— | e 188.49 188.49 | 376.98 | 565.47 | 753.96 | 942.45 | 1130.94 | 1319.43 | 1507.92 | 1696.41
i)
Lateral 314.16 314.16 | 628.32 | 924.48 | 1256.64  1570.80 | 1884.96 | 2199.12 | 2513.28 | 2827.44
200 40 !mﬁﬂﬂ pressure 1 | | | |
P | 2 301.57 30157 | 603.14 | 90471 | 1206.28 | 1507.85 | 1800.42 | 2110.99 | 241256 | 2714.13
L] ‘
e Lateral 490.87 490.87 | 918.74 | 1472.61 | 1963.48 | 2454.35 | 2945.22 | 3426.09 | 3926.96 | 4417.83
250 50 Double acting Ll . : - . -
o 471.24 471.24 | 94248 | 1413.75 | 1884.96 | 2356.20 | 2827.44 | 3208.68 | 3769.92 | 4241.16
! o ! ! { ! ]
p— Lateral B04.25 B04.25 | 1608.50 | 2412.75 | 3217.00 | 4021.25 | 4825.50 | 5629.75 | 6434.00 | 7238.25
320 60 Double acting pressure + t t + 1 t
L 775.98 775.98 | 1551.96 | 2327.94 | 3103.92 | 3879.90 | 4655.88  5431.86 | 6207.84 | 6983.82 |




REIWA KANJI GROUP

Zs §tandard cylinder me | ggEn P <[5 1 B T 4t 1 A9 FIF F allowed at v F15ETorques
ZSHRES Modsl | Threadsize | Cushloninglengtn | e N sl Falowodat tavs |F alowod o 1 Siye | MXNT | Mythm) | Mz(him)
18 M5 x 0.8 15 80 40 20 1 3 3
25 G1/8 18 155 90 40 2 FEEE
= ] 32 G1/8 24 280 155 70 35 |25 | 25
= 40 G1/4 34 500 290 125 55 | 40 | 40
50 G1/4 40 790 420 195 10 | 65 | 65
63 G3/8 49 1500 850 370 16 | 100 | 100
ZK Standard cylinder short <[5 3 [ T 5t 1F R HIF F allowed at v F14ETorques
P B | WEEE | e [orsrenmnT ety | e T i [ [ i
18 M5 x 0.8 15 40 25 10 0% | v | A7
25 G1/8 18 90 50 25 o gy e
32 G1/8 24 200 110 45 1.0 | 5.0 | 5.0
40 G1/4 34 420 240 110 20 | 85 8.5
50 G1/4 40 750 440 190 35 | 13.0] 13.0
63 G3/8 49 1500 850 380 5.0 | 18.0| 18.0
ZP Parallel cylinder e saEn FHKE FEHEE T FRIAFFallowedatv N #ETorques
ZPEATH Model | Threadsze | Cushioninglengin |8 T okt s | st i s | M) [ Mytm) | Mzt
25 G1/8 18 300 175 75 1€ |27 |27
32 G1/8 24 540 300 130 20 |62 |82
40 G1/4 34 1090 620 280 55 | 88 | 88
50 G1/4 40 1760 1000 450 90 | 155 | 155
63 G3/8 49 2900 1660 720 148 | 260 | 260
ZF/ZFU Guiding cylinder with external carriage
ZF/ZFUS M ELA SM D S48 28 we | @gEn P 7[R B T 4t 95 R IF Fallowed atv F15ETorques
Model | Threadsize | Cushioninglength |O75ms TR ] gmﬁzﬁﬁs gj:mfﬁ’;‘f"{{. Mx(Nm) | My(Nm) | Mz(Nm)
18 M5 x 0.8 15 100 58 26 35 | 6 6
25 G1/8 18 280 160 65 10 [ 20 | 20
32 G1/8 24 510 300 140 25 | 45 | 45
40 G1/4 34 1000 550 250 40 |75 | 75
50 G1/4 40 1500 850 380 80 | 150 | 150
63 G3/8 49 2500 1400 610 110 | 250 | 250
ZFK Guiding cylinder short with external carriage
ZFKERERAEN RS2 e | sgEn 46 A[E i B T 5 VF B HIF F allowed atv H4ETorques
Model | Threadsize | Cushioninglength m%n! A FRFEN | 2 SmsTEFED [ xium) | MyiNm) | Mzim)
18 M5 x 0.8 15 50 30 12 18 | 1.8 |18
25 G1/8 18 100 60 30 4 4 4
32 G1/8 24 250 135 65 10 |10 | 10
40 G1/4 34 480 280 140 16 | 16 | 18
50 G1/4 40 800 480 220 30 | 30 | 30
63 G3/8 49 1500 950 400 45 | 45 | 45
ZSS Guiding cylinder with external ball bearing guide
ZSSEift i/ AR R Tk ARk S0 me | SgEn b & SR EMME 5 fiLoad rating per carriage F1%ETorques
Model Thread size Cushioning length Cdyn (N) CO (N) Mx{Nm) | My(Nm) | Mz(Nm)
18 M5 x 0.8 15 3810 5590 8T | 22
i 25 G1/8 18 8350 16300 170 | 154 | 130
. 32 G1/8 24 11700 23500 320 | 266 | 222
40 G1/4 34 18800 36500 572 | 516 | 434
50 G1/4 40 28800 55000 1040/ 870 | 730
63 G3/8 49 28800 55000 1040/ 870 | 730
ZFF Guiding cylinder with 2 external carriages
ZFFSME/BEA ISR e | g0 B 5[5 38 BE T 5t 1 B 2IF F allowed at v F1%ETorques
ol s ol R o A A L I
18 M5 x 0.8 15 150 80 31 52 |9 9
25 G1/8 18 420 210 80 15 [ 30 | 30
32 G1/8 24 750 400 170 37 | 67 | 67
40 G1/4 34 1500 750 300 60 | 110 | 110
50 Gi/4 40 2200 1150 460 120 | 220 | 220
63 G3/8 49 3700 1800 740 170 | 370 | 370




REIWA KANJI GROUP

ZK+Standard cyliner short with broad yoke head

ZK-+H7 ik 55 1 5 B8 7E AT Sk
me b A B T %2 1F B9 HF F allowed at v A kETorques
Model Thread size Cushioning length m FT mnim (3 m Mx(Nm) My(Nm)
25 G1/8 18 55 28 25 FYE 3.3
40 G1/8 34 260 125 8 12 12
ZS+Standard cylinder with broad yoke head
ZSHR R SELHREEH % ne warEn L 7[5 i BE T~ 48 1% A9 AIF F allowed at v H1%ETorques
Madel Thread size Cushioning length | 0.75m/s T3t # 7 M TRAMA | 1.5ms R FmA Mx(Nm) My(Nm)
F allowed at 0.75m/s| Fallowedat im/s | F allowed at 1.5m/s
= . 25 G1/8 18 120 50 5 16 16
40 G1/8 34 400 175 20 55 55
ZKS Guiding cylinder short with external ball bearing guide
ZKS St 5 EL/AE S R ER SR B8 e gEn E & SR ENEE 7 fiLoad rating per carriage H%ETorques
Model Thread size Cushioning length Cdyn (N) €O (N) Mx(Nm) | My(Nm) | Mz{Nm)
18 M5 % 0.8 15 3810 5590 T RENEL
= 25 G1/8 18 8350 16300 85 | 77 | 65
o 32 G1/8 24 11700 23500 160 | 133 | 111
40 G1/4 34 18800 36500 286 | 258 | 217
50 G1/4 40 28800 55000 520 | 435 | 365
63 Ga/s 49 28800 55000 520 | 435 | 365
Standard cylinder SC series ST 7 EHEEAH
SCER IR <& 28 | mann) JSLIL, mEgeens) TRLwC | ®zme | Goau
— scaz |32 | Gi/s 25-1000 M10x1.25 | FA-mis F—
sc40 |40 | Gi/a 25-1000 M12x1.25 | cA-aex SCD- R4
SC50 |50 | Gi/4 25-1000 | M16x1.5 e SCIANNEN
sce3 |63 | Gas 25-1000 M16x1.5 bi- 2 SC-S:With magnet
sceo (80 | Gars 25-1000 M20x 1.5 ;immw 3&03::,‘,’,.'? 'r:: A
sc100 | 100 | G1/2 25-1000 M20x1.5 FB_rear flange g et i
sc12s | 125 | ai/2 25-1000 M27 x 2 Ch-singleclovis | SCT:Multiposition
SC160 | 160 | G1/2 25-1000 M36 x 2 ﬁ,‘m"ﬂ” type
SC200 | 200 G3/4 25-1000 M36 x 2 _l'j' Joint
SC250 | 250 | Ga/4 25-1000 M42x 2 tnunnion
Standard cylinder SU series R L EREAD
i e £ [SEimanc] AR, (mprment] TRANS | mgms | 9RE
sus2 |32 | Gi/8 25-1000 Mi0x126 | , ..
SU40 |40 | G1/a 25-1000 M12x125 | -tz
SU50 |50 | G1/4 25-1000 M16x1.5 Ca-n@H SU-S: Bk
SUB3 |63 | Gais 25-1000 | M16x15 - SUD: R
SUBO |80 | G3/8 | 25-1000 | M20xi5 | pEx | SUKMTRE  01-0.9Mpa
SU100 | 100 | G1/2 25-1000 M20x 1.5 FB-reartrge | SUD:Double rod
SU125 | 125 | G1/2 25-1000 M27 x 2 CB-doubleclews | SUJ-Double rod
SU160 | 160 | G1/2 25-1000 | M36x2 i et "
SU200 | 200 | G3/4 25-1000 M36 x 2 BN
i T EREA
siaz |32 | aiie 25-1000 M10x1.25 FAm=
si40 [40 | Gia 25-1000 M12x1.25 ca-aax Si_S it
SI50 |50 | G1/4 25-1000 M16x15 s T SID: WA
VoY SIJ: IR R
sie3 |63 | Gams 25-1000 M16x15 vms
SiB0 | 80 | Ga/s 25-1000 M20x 15 oA S1-S:Wah magret 0.1-0.9Mpa
si1oo [ 100| G172 25-1000 M20x 15 Pt | &5 Double rod
si125 | 125 | G1/2 25-1000 M27 x 2 CB-doutie clevis adjustable
LB-foot bracket
siie0 | 160 ] G1/2 25-1000 M36x 2 oy
siz00 | 200 | Ga/a 25-1000 M36 x 2 T center runrion
Standard cylinder MBB series T ERED
MBBR 4 S 4T zs (4R arn snma e (EEFMER TRANE | mrms Oparatig
MBB32 | 32 | G1/8 25-1000 M10x 1.25 FAmRE MDBB: i tE
MBB40 |40 | G1/4 | 25-1000 | Mi4x1.5 ] iy i
MBB50 | 50 | G1/4 25-1000 M18x15 ﬁ’iﬁ' MBC: £ %)
MBB63 |63 | G3/8 | 25-1000 | M1Bx15 o i SO L
MBBB0 | B0 | Ga/8 25-1000 M22x 15 mowrge | MBL:Footstand type
MBB100| 100 | G1/2 25-1000 M26x15 CB-soute cove mgggg‘"gfm
MBB125| 125 | G1/2 25-1000 M27 x1.2 it MBD:Double earing




REIWA KANJI GROUP

Standard cylinder DNC series o AT EAEH
0 BERFRG R TEAME
DNC 5ot 4T o MEBE sincers voke [FHET RAUST | Avatanie Eiam | operauy
DNC32 |32 | G1/8 25-1000 M10x 1.25 FAmES
DNC40 | 40 | Gi/4 25-1000 M12x1.25 oy gﬁ?&%ﬁgﬁ
DNC50 | 50 | G1/4 25-1000 M16x 15 ﬁ'ﬁl" ONCIRMTRE |0 1.0 oMpa
DNC63 |63 | Ga/s 25-1000 M16x15 C AT R — '
DNC80 | 80 | Ga/8 25-1000 | M20x15 Fowwtw | ONCD:Double rod
DNC100| 100 | G1/2 25~1000 M20x 1.5 Op-soielecess | DNCJ:Double rod
DNC125] 125 | G1/2 25-1000 | M27x2 Yoo s
Standard cylinder DSBC series HE LT % B EREAH
DSBCR Fl#7k K4l s, | tore |MAREY sandariiuoie |FRFRERT| “aalae ™ | WEET | o
DSBC32 |32 | G1/8 25-1000 M10x1.25 EARES
= DSBC40 | 40 | G1/4 25-1000 Mi2x1.25 ey gg%?;;‘:
- DSBC50 | 50 | G1/4 25-1000 M16x15 Ib_ﬁ:‘ DSBCURMARE |0 4 o 9Mpa
DSBC63 [ 63 | G3/8 25-1000 Mi6x15 oA E—
DsBceo [ 80 | Ga/8 25-1000 M20x15 Feeartarce | DSBCD:Double rod
DSBC100 100 | G1/2 25-1000 M20x15 DR tiod DSB?qW fod
DSBC125 125 | G1/2 25-1000 M27 x 2 pirté i
Standard cylinder QGB series B T AT EE EREAH
gR T ik A A
QGBR Ik & iz | Bore |MEUEE cunauatvoke (ERERERT| “vatana© | FERZ | operain
QGB63 | 63 | G3/8 25-1000 M16x15 et
¢ MF2: Gk =
QGB80 |80 | Ga/8 25-1000 M20x16 | Mok an
QGB100| 100 | G1/2 25-1000 M20x 16 | N Slwst P -
QGB125| 125 | G1/2 25-1000 M27 x 2 MT4:ch S i s B
QGB160| 160 | G3/4 25-1000 M36 x 2 EQTon e QGBWithbuier |0-1-0.9Mpa
QGB200| 200 | G3/4 25-1000 M36 x 2 MP4:Ending single GOA#mmw
earring QGBZ:Heavy
QGB250| 250 | G3/4 25-1000 M42 x 2 Me2:Ending double
QGB320| 320 | G3/4 25-1000 M48 x 2 Msj‘ga""ﬂw
QGB400| 400 | G1 25~1000 M56 x 4 MTé:Dowel type
Standard cylinder CA2 series P O tas AT % WEEH
CA2 RIS ) i Rt e I = R
CA240 |40 | G1/4 25-1000 M14x1.5 JS— —
CA250 |50 | G3/8 | 25-1000 M18x1.5 Sams o
CA263 |63 | G3/8 25-1000 M18x1.5 B campron-oarya | 0.1~0.9Mpa
e CAZWE Double fod
CA280 |80 | Gi/2 | 25-1000 M22x15 | Goms "
cA2100 | 100] G1/2 25-1000 M26 x 1.5 g
Standard cylinder CA1series wz T AT 3 B ERED
CA1 RIIKE 4 Bore Thread - i L il i - e ey et
CA140 |40 | G1/4 25-1000 M14x1.5 e e T
CA150 |50 | Gas 25-1000 M18x 1.5 Sagr e cAw e
CA163 |63 | G3/8 25-1000 M18x 1.5 B camanenouns | 0.1-0.9Mpa
o 1 Dauble rod
CA180 |80 | Gi/2 25-1000 M22x 1.5 wmar CanT Wi ke
CA1100 | 100] G1/2 25-1000 M26 x 1.5 e
Slim cylinder DSNU series HE = T % A EREN
u]
DSNUR 5148403 R 341 | Gm Toeatsie | owamguene | paie | BRE® | o
DSNU8 8 M5x0.8 10-300 Fa-mrzmE
DSNU10 10 M5x0.8 10-300 o
DSNU12 12 M5x0.8 10-300 Lot ESNUATEA
DSNU16 16 M5 x 0.8 10~300 e | e shesns (0-1-0.9Mpa
DSNU20 20 G1/8 10-300 e
DSNU25 25 G1/8 10-300
Slim cylinder C85 series we |ERlggwn| HAEG EEARG R TEAME - EREN
C85Z N AEBMEMEE Model | BOr® (throaqsize| Standard stroke | pigion port size AvSiEn Modl Spanchy
i C8508 | 8 |M5x0.8] 5-100 M4x0.7 — ——
T c8510 | 10 [M5x0.8] 5-100 M4 x0.7 wuww CB5W RIS
S C8512 | 12 |M5x0.8| 5-200 M6 x 1 o gg%;?ﬁ;:}:ﬂ,’ 0.1-0.9Mpal
C8516 | 16 |[M5x0.8] 5-200 M6 x 1 o ;With magnet
C85W:Double rod
c8520 |20 | G1/8 25-300 M8x1.25 i g g:g-ﬂmmpnng
Cc8525 | 25 | G1/8 25-300 M10x1.25 B -
Slim cylinder CM2B series Py = Wik AN G EREAH
CM2BF 51l 7 4% 2k fR S AT S [Borw MRRECEs| sindra svoke [PAEEE pokune ]| Avaiabi B | Coumey
Y CM2B20 [ 20 | G1/8 25-200 M8x1.25 o e
] - I
CM2B25 | 25 | G1/8 25-300 M10x1.25 Y %ﬁ“f‘: 0.1-0.9Mpal
CM2B32 [ 32 | G1/8 25-300 M10x1.25 el Contwm mugret
CM2B40 | 40 | G1/4 25-300 M12x1.25 it AT P vy




REIWA KANJI GROUP

Slim cylinder CJ2 series ae S AT
EEFQQR| FEAME BREH
CU2F 5 R 4R W AR AT ogn | oo (Phecsssa) sunawaswoke |FACEERT| " Ao © | EELS | opmang
\g 2
L CJ206 | 6 |M5x0.8 5-60 M3x0.5 e cozBmEn
o = .'I*"* CJ28-5: SR M (F14)
Py cJ210 | 10 |[Msx0.8| 5-60 W07 || SELL, | SEEme | o 7Mos
LB-foot bracket CJ2WB:Double rod i g P
CJ216 | 16 |M5x0.8 5-125 M5 x 0.8 e T
Slim cylinder CJ1 series 2 AT BREH
& EATRG R mA e &
CJd1 E ;]] Z; ﬁ ﬂ ﬁﬂ:% ﬂ Model 2?;: Thread size S"“dwn"m“ Piston port size Model op‘::::ﬁ:'
i CUISBIATH (M)
o CJ125 |2.5|4x2.5PU Tube 5,10 tmm C188:Front spring 0.1-0.7/Mpa
Slim cylinder MAL series we |MR|lggen| HEG EEREG Rt TRAME - BREH
MALEF$R & &S Modal | Bore IThroagsize| Standard siroke | piston port size Jurenls. Model Opsrabey
MAL16 | 16 |M5x0.8| 25-300 M6 x 1 FA-FE2EE MALD T
LB- TR AL A s
e ’ MAL20 | 20 | G1/8 25-300 M8 x 1.25 SDB-EREER | e ahaiw
- MAL25 | 25 | G1/8 25-300 M10x1.25 | Yiims otm | 0.1-0.9Mpa
> MAL32 | 32 | a8 25-300 M10x125 | FA-fronitange %fﬁ:“:.;‘?“
MAL40 | 40 | G1/4 25-300 M12x1.25 So8-Footsool | saimune
MALS0 | 50 | G1/4 25-300 M14x1.5 Aoy L R oo
Slim cylinder MA series AT HEED
. ne (E# EEAKQR| TEAME | gams
MA Z 51 75 6% 0 i R S L Model | SO |Threadsize| Standisivoke | ™ iston port size accassories Wiodel i
MA16 | 16 |M5x0.8|  25-300 M6 x 1 R
- MA20 | 20 | G1/8 25-300 M8 x 1.25 LB-THR prav-pbecs
e SOB-BRERE | \oamnki,
.- l/‘L MA25 | 25 | G1/8 25-300 M10x1.25 Y-V L
‘g‘/ v MA32 | 32 | G1/8 25-300 M10x1.25 oo m::b':wiﬂ.,.. 0.1~0.9Mpa
MA40 | 40 | G1/8 25-300 M12x1.25 | \Blootbmciet | EECCOC
MAS0 | 50 | Gi/4 |  25-300 Mi4x15 Y-Y ot MeFrot g
MAB3 | 63 | G1/4 25-300 M14x 1.5 g MAC v bt
Transition cylinder CG1 series FHT % B 4 WRAEAH
me |6R ®0 EEARgR (TERAME gawm E
CG1RNBRSH Modq;i Eﬂ,_': #r;um size s"""::"‘"’"' Piston part size l::::::rlieu Mmlq ?,',’:":L"'.'.“
CG120 |20 G1/8 25-300 M8 x 1.25 ——
) CG125 |25 G1/8 25-300 M10x1.25 b}
‘ i CG132 |32 G1/8 25-500 M10x1.25 ;
it / CG140 |40 G1/8 25-800 M14x1.25 COGTB-— i | 0.1-0.9Mpa
CG150 |50 G1/4 25-1000 M18x 1.5
CG163 |63 Gi/4 25-1000 Mi8x1.5 Ca-toaclva
CG180 | 80 G3/8 25-1000 M22x1.5 iy
CG1100 100 | Gi1/2 25-1000 M26x 1.5
Compact cylinder SDA series = £
me |[EZggen EEARGRT meme | BAES
SDAR Y BRI S & Model | B2 [Thread size| Standard stroke | Tpigion port size Pl"l’h“:'-g":}:’.""' Mode! C;E:.’:m‘.'
SDA12 |12 |M5x0.8]  5-50 M3 x0.5 M5x 0.8
o SDA16 |16 |M5x0.8]  5-50 M3x0.5 M5x 0.8 son-sman
3.. SDA20 |20 | M5x0.8|  5-100 Max0.7 M6 x 1 o0 e
- SDA25 |25 |M5x0.8] 5-100 M5 x 0.8 M8 x1.25 SsAmNEm
SDA32 |32 | G1/8 5-100 M6 x 1 M10x1.25 | SoATsam
SDA-S:With magnet -
SDA40 |40 | G1/8 5-100 M8 % 1.25 Mi4x15 | Sok e ahie
-_-';_: SDA50 |50 G1/4 5-100 M10x1.5 M18x1.5 SDAJ:Double rod
"-._;‘pd SDA63 |63 | G1/4 5-100 M10x 1.5 M18x1.5 SSAFont g
= SDAB0 |80 | Ga/8 5-100 M14x15 M22x 1.5 s
SDA100 [100| G3/8 5-100 M18x 1.5 M26x 1.5
Compact cylinder CQ2B series e 1T BREAH
SR BB ARG R P RERS
CQ2B A7 WK Modal 1%’: Thread size| Standard strake | ™pigion por size | Pisolon port male Model ?”9:,'::“;;9
CQ2B12 |12 |M5x0.8] 5-100 M3 x0.5 M5 x 0.8 -
CQ2B16 |16 [M5x0.8 5-100 M4 x 0.7 M6 x 1 Cazs-S:@EMMNEE|
CQ2B20 |20 |M5x0.8|  5-100 M5 x 0.8 MExTE6 oo
CQ2B25 [25 |M5x0.8]  5-100 M6 x 1 N5 [ Comr, et ot
CQ2832 |32 | G1/8 5-100 M8 x 1.25 Midx 15 [Co-Shmems  |B=CNPY
CQ2B40 |40 | G1/8 5-100 M8 x 1.25 M14x 1.5 |COZ8-M Mo treas
CQ2B50 [50 | G1/4 5-100 M10x1.5 M18x1.5 )
CQ2B63 |63 | G1/4 5-100 M10x1.5 M18x1.5
cQzB80 |80 | G3/8 5-100 M16 x 2 M22x1.5
CQ2B100/100| G3/8 5-100 M20 % 2.5 M26x 1.5
Slim cylinder CJPD series(Double action)| e o FAELT EEFSGRT & A& H
CJPDH 51 48 47 S &1 (W 1E ) Noan | o Thessais T Piston port size Preseure
CJPD6 6 M5x 0.8 5,10,15,20 M3x0.5
5 CJPD10 10 M5x0.8 5,10,15,20,25,30 Md x0.7 0.1-0.7Mpa
CJPD15 15 M5x0.8 5,10,15,20,25,30 M5x 0.8




REIWA KANJI GROUP

Slim cylinder CJPB series(single action)

HE FRiE(TIZ EEATEG R EREH
CJPBR 51 44 S 4T (%4F ) Neur, | S | RS cam o fision porsive Prasers
CJPB6 6 M5x0.8 5,10,15 M3x0.5
% % CJPB10 | 10 M5x0.8 5,10,15 M4x0.7 0.1-0.7Mpa
CJPB15 15 M5x0.8 5,10,15 M5x08
Compact cylinder CQSB series o Tl T BHEEAH
EEHMERS | SNFRYT :
(&) QSB § ‘fll ﬁﬂe{ﬂ %;El E&’: Thread size s“"“"':n“"’“ Fhlﬁt port size P"f,}?:.%":'u':"’ ﬂ%”;!;'!' ?,'::::m
P casBiz| 12 | M5x08 5-30 M3 x 0.5 MS x 0.8 coash et
d.a CQSB16| 16 | M5x0.8 5-30 M4 x 0.7 M6 x 1 Caso. T wARI) | 0 1_0 oMpa
CQSB20| 20 | M5x0.8 5-50 M5 x 0.8 MBx1.25 | Coewamsiaes
CQSB25 | 25 | M5x0.8 5-50 M6 x 1 MA0 % 1.25 | Cos- i asems
Compact cylinder ADVU series m iE AT EHmERT| MERST EREA
ADVUR 7 %% B S 51 oow | e | TR |suroweivoes| FACEEVERT | pupengonmue | RERS ressurs
ADVU1Z | 12 M5x0.8 1-400 M3 M6 x 1
ADVU16 | 16 | M5x0.8 1-400 M4 M8 x 1
ADVU20 | 20 M5x0.8 1-400 M5 M10 x 1.25
ADVU25 | 25 M5x0.8 1-400 M5 M10 x 1.25 :
ADVU32 | 32 G1/8 1-400 M6 MIOR 125 [
ADVU40 | 40 G1/8 1-400 M6 MiRETE6 [ovismtope | '0.1-0.5Mpa
ADVUS0 50 G1/8 1-400 M8 M12x1.25 AM_‘;‘;HWP'
ADVU63 | B3 G1/8 1-400 M8 M12x1.25 "
ADVUB0 | 80 G1/8 1-400 M10 M16x1.5
ADVU100| 100 G1/4 1-400 M12 M20 x 1.5
ADVU125| 125 G1/4 1-400 M16 M20 x 2
Free-mount cylinder CU series ne HE RETRE = R EREH
CURFNIZMERESE Shons e #,ﬁﬁﬂ e ﬁ""'ﬁ' P ase a"%g'% iy
L] cus - M5x0.8 5-30 M3 x 0.5 cou it
cu 10 10 M5x0.8 5-30 M4 x 0.7 i<t T
Cu16 16 M5x 0.8 5-50 M5 x 0.8 o 0.1-0.9Mpa
Cu 20 20 M5x0.8 5-50 M6 x 1 CDU:With magnet o
cu2s 25 M5x 0.8 5-50 M8 x 1.25 o et o
cuas2 32 G1/8 5-50 M10 x 1.25 CU-S:Front spring
Freely installed cylinder MD series e RETE EEERG RS EREH
MDF 51 & i R34 oow | Sre | MARED | sunmeivons]  FREANE R ® | oo
MD6 6 M5x0.8 5-35 M3 x 0.5 VEDMB
MD10 10 M5x 0.8 5-35 M4 x0.7 MTD: BB |
MDD: 3T 4 5 2h
MD16 16 M5x0.8 5-50 MS x 0.8 MDU R
MD20 | 20 M5x0.8 5-60 M6 x 1 ey 0.1-0.8Mpa
uoes L a5 | wecud [ sse [ UEELE v
MD32 a2 G1/8 5-60 M10 x 1.25 .
Dual cylinder TN series HE T ERED
o REDE
TNR 5 RS b | s | RERE ™ oce paratng
TN10 10 M5x0.8 10-200 TH
TN16 16 M5x0.8 10~200 TNDA
TN RSEF N
TN20 20 M5x0.8 10~200 TN:With magnet 0.1-0.9Mpa
TN25 25 M5x0.8 10-200 iy
TN32 a2 G1/8 10-200 adjustable
Dual cylinder CXS series ny He 1T EREAH
a RER
CXSE 7 WS e i s B ke i Oesrasny
m—— CXS6 6 M5 x 0.8 5-50
CXS10 10 M5x0.8 5-75 CXSW RIS
CXS15 15 M5 x 0.8 5-100 SRR 0.1-0.9Mpa
CXSW:Double rod : e
CXS20 20 M5x0.8 5-100 R
CXS25 25 G1/8 5~100 CXSL:Ball Bearings
CXS32 32 G1/8 5-100
Dual-guide cylinder MGPM series e T EREA
u] ;
W S TIMGPME ) o I M e i =
MGPM12 12 M5x0.8 10-200
MGPM16 16 M5 0.8 10-200
MGPM20 20 G1/8 10-200
MGPM25 25 G1/8 10-200 MGPM-# 3%
MGPM32 32 G1/8 10-300 MPIA Side bearings 0.1-0.9Mpa
MGPM40 40 G1/8 10-300 MGPL:Bali Bearings
MGPM50 50 G1/4 10-300
MGPM83 63 G1/4 10-300
MGPM80 80 G3/8 10~300
MGPM100 | 100 G3/8 10-300




REIWA KANJI GROUP

Dual-guide cylinder TCM series RAE T EHED
b L] ﬁ#g%ﬂ%;ITCME L] i %I"& Tecaes o o st
TCM12 12 M5 x 0.8 10-200
TCM16 16 M5x 0.8 10-200
TCM20 20 G1/8 10-200
e TCM:i# Zhil
TCM25 25 G1/8 10~200 TOL:H 8 ;’ 0.1-0.9Mpa
TCM32 32 G1/8 10-300 TCL:Ball Bearings
TCM40 40 G1/8 10-300 TCM:Side bearings
TCM50 50 G1/4 10~300
TCM63 63 G1/4 10~300
Rotary cylinder MK series = = KREH HEREA
MK ﬁjﬁﬁ'g\ﬂ 3%?.: %? #ﬁﬁg ﬁtﬁtlng I'mkeCIﬁm stroke R?llﬁry?ngu ’a?:"“cpy":;g:r ﬁ?isilﬁoiéé mh%od!;q (;?:::t‘i:'g
S MK12 |12 [M5x0.8 7.5 10:20 90° 40N 6
MK16 |16 |[M5x0.8 7.5 10:20 90° 75N 8 —
MK20 |20 | M5x0.8 9.5 10:20 90° 100N 12 Lt
MK25 |25 |M5x0.8 9.5 10:20 90° 185N 12 0.1-0.9Mpa
MK32 [32| Gi1/8 15 10:20 90° 300N 16 R:Right
MK40 |40 | G1/8 15 10:20 90° 525N 16 L:Left
MK50 |50 | G1/4 19 20:50 90° 825N 20
MK63 |63 | G1/4 19 20:50 90° 1400N 20
o e A i we [Ewgmn| wurmoe | srirmeo | menmise | xmmmise [ BAXES
ACKRFIMEE TESHE Model | 5%® | Thread size | Rotating sirake 90| Clamped sirokeg0| Rotating stroke 180| Glamped stroke180| "Gt Tyimocr
ACK25 |25 | G1/8 14 12 20 6 185N
ACK32 [32]| Gi/s 14 12 20 6 300N
5 ACK40 |40 | G1/8 15 12 21 & 525N
ACK50 |50 | G1/4 15 14 21 8 825N
ACK63 |63 | G1/4 15 14 21 8 1400N
Rotary cylinder HS series = =
HS#% ;] ﬁyﬁ 'Fﬁq %E ?&1? Thread gE |Ratating stroke| clﬁped stroke|Rotary Angle| iﬁﬁn?pﬂg‘r:? ‘Epﬁ.ﬁoio& ml%a%g- %P':’%?
HS25 |25 M5x0.8 9 13 20° 200N 14
HS3z [32 | G1/8 1 15 90° 360 N 16 RER
HS40 |40 | G1/8 11 15 90° 830 N 16 4 0.1-0.9Mpal
HS50 |50 | G1/8 13 17 90° | 980N 20 i
HS63 |63 | G1/8 13 17 20° 1680 N 20
Rotary cylinder SRC series = = &
SRC g ;uyﬁ ﬁ E[ Model %;'?#-;&-ﬁag |Rotating stroke| Cln*m];‘ndqlgh ﬁ%ﬁy?ﬂﬁn %c??c;*ﬂﬁ? .ﬁPul!Io#nF E:FO& {%E?.r:s??
SRC25 | 25 |M5x0.8 11 11 90° 200N 14
SRC32 | 32| Gi/s 13 13 90° 360N 16
SRC40 | 40| G1/8 13 13 90° 630N 16 0.1-0.9MPa
SRC50 | 50| G1/8 15 15 90° 980N 20
SRC63 | 63| G1/8 15 15 90° 1680N 20
Cylinder ALC series E
ALCR 3 S& m #ﬁgﬁ Ciamp force %Euﬁ?aﬁg %‘r’?l:"";‘?
ALC25 M5 x 0.8 15N.m 75°
ALC32 G1/8 25N.m 70°
ALC40 G1/8 44N.m 65° 0.1-0.9MPa
i ALC50 G1/8 71N.m 70°
' ALC63 G1/8 136N.m 65°
Swing cylinder MSQ series Rotary cylinder CRQ2 series
MSQBRFEASHE| ms B0 \|3AE it CRQ2RFIEASHE
Model Thread size|  Rotary Angle Note
MSQB10 | M5x0.8 A WwerEn %ﬂfﬁ: S &t
g MSQB20 | M5x 0.8 Frapn ) Model! Thread size prassure |Rotary Angle Note
o ‘ MSQB30 | G1/8 RS J.,. T (T MR RO F—
% MSQB50 | G1/8 0-190° |, \with angular CRQ2-15 Gig [ With magnet
MSQB70 G1/8 adjustment boult CRQ2-20 G1/8 gs;:sre;—w-u&
MSQB100| G1/8 PRI e CRQ2-30 G1/8 |0.1-1.0Mpa |170%-190°| cORQ28-5 248
MSQB200| G1/8 CRQ2-40 G1/8 Sirigleton
Slide cylinder MXQ series Rotary cylinder CRA1 series
MXQRF|RESKE ne griEn &t #EEH| CRARIIEESSE
Model | Thread size| Note ‘;f:n:.‘:‘.ﬂ we W ‘ﬂ:% jl;]r.. Er R &owmr ﬁn’]
MXQ6 M5x 0.8 :f: 2::; Model Thread size CIar'nnvrareo Rotary Angle punun‘
MXQ8 [ M5x0.8) 5 ot cen i .&*; CRA1B30 |[M5x0.8| 1.9N.m
MXQ12 | M5x0.8| 7 memEltE | o4 0.7Mpa % CRA1B50 G1/8 | 9.3N.m
MXQ16 | M5x 0.8 5oz CRA1B63 | G1/8 | 17N.m |g0* #180°|0.1-0.9Mpa
MX020 | GHE | fESmres s CRA1B80 G1/4 | 32N.m
MXQIE | ICHBN] Bt utter CRA1B100 | G3/8 | 74N.m




REIWA KANJI GROUP

Angular Guide MHS2 series Wah A “”E;-“"‘**Wi"'m"m“-“‘“ 0 FEEITIR EHEAR
MHS2Z& 5| SzhEis Double type Wakie c’fl:p"m W::m R Thread size Finger stroke ?;:::ﬂ"““
MHS2-16D 23N 21N M3+0.5 amm
S MHS2-20D 42N 37N M5-0.8 Zmm
g = ‘ MHS2-25D 71N 63N M5x0.8 6mm
f MHS2-32D 123N 111N M5x0.8 amm 0.6Mpa
MHS2-40D 195N 117N M5x0.8 8mm
MHS2-50D 306N 280N M5x0.8 12mm
MHS2-63D 537N 502N M5x0.8 16mm
Angular Guide MHS3 series D&niﬁi‘! EHEOS ,"Fkiml’mmma”uriﬂ_;;sm giEn FHOE %E«En?
MHS3R 5Kz FiE type Inside clamp force Outside clamp force Thread size 9 pressure
MHS3-16D 16N 14N M3x0.5 4mm
MHS3-20D 28N 25N M5x0.8 4mm
MHS3-25D 47N 42N M5 % 0.8 Bmm
MHS3-32D 82N 74N M5x 0.8 8mm
MHS3-40D 130N 118N M5 x 0.8 amm 0.6Mpa
MHS3-50D 204N 187N M5 x 0.8 12mm
MHS3-63D 359N 335N M5x0.8 16mm
MHS3-80D 525N 500N 1/8 20mm
MHS3-100D 780N 750N 114 24mm
MHS3-125D 1320N 1270N 3/8 32mm
Angular Guide MHS4 series 7170 5Mpa 375 71 Pressure s under 0.5 Mpa FHETRE ERED
MHS4E 5| SEhFi8 Double type Mﬂ;’w o.m";!”j"m Thread size Finger stroke %?:;:3:‘:
MHS4-16D 12N 10N M3x0.5 4mm
: MHS4-20D 21N 19N M5x0.8 amm
I’} MHS4-25D 35N 31N M5 x 0.8 smm
" MHS4-32D 61N 55N M5x 0.8 8mm 0.6Mpa
i MHS4-40D 97N 88N M5 x 0.8 8mm
» MHS4-50D 153N 140N M5x0.8 12mm
MHS4-63D 268N 251N M5x0.8 16mm
Without rod mechanical type cylinder OSP series AT EREAN
s/l ype cy ne Jig Bz Standara siroke Cpmestiny
OSP 16 16 M5x0.8 25-3000
OSP 25 25 G1/8 25-3000
OSP 32 32 G1/4 25-3000
OSP 40 40 Gi/4 25-3000 0.1~0.9Mpa
OSP 50 50 G1/4 25-5000
OSP 63 63 G3/8 25-5000
OSP 80 80 G1/2 25-5000
AnQU|ar SUKIEMITS Saran I;I!dél mu?n Qutside cl 1 Inside ci 1 Inside cl distal Insidi dist {gﬂﬁzj
lode! read size utside clamp lorce nside clamp force [Inside clamp distance | Inside cpen distance pressure
NUZERINTNEES MHZ2-6D M3x0.5 3.3 6.1 8 12
MHZ2-10D | M3x05 11 17 e 15.2
MHZ2-16D | M5.08 34 45 14.9 20.9
MHZ2-20D | M5x08 42 66 16.3 26.3 0.1-0:7Mpa
MHZ2-25D | M5.08 65 104 19.3 33.3
MHZ2-32D | M5x08 158 193 26 48
MHZ2-40D | M5x0.8 254 318 30 60
Angular Guide MHY2 series Angular Guide MHT2 series
MHY 2% 51530 F 4 o FAHE AR MHT2RIISHFR [ g g ne
Modal Thread size| Clame force Warking Modal Thread size Angle of finger Clamp force
torque angel opaning/closing lorque
MHY2-10D | M5x0.8| 0.16N.m | zp. 150- MHT2-32 | G1/8 ~3¢ ~28° 12.4N.m
MHY2-16D | M5x0.8| 0.54N.m | Openside MHT2-40 G1/8 -3 -27° 36N.m
MHY2-20D | M5x0.8| 1.10N.m | s, _a- MHT2-50 | G1/4 20 ~23° 63N.m
MHY2-25D | M5x0.8 | 2.28N.m |Closeside MHT2-63 G1/4 =2° ~23° 106N.m
: ' Angular Guide MHL2 series
Angular GTS MHC2 series MHL2E SISz Fis = e P
MHC2% 5 S Zh F 1§ EiEhis | FAME Madel Thread size |Closed width | Open width | Sustaining
ne |arED Clamp force | Working 1vod
Ioched Thesad Siza| " isrenig angel MHL2-10D | M5X0.8 56 76 14
. MHC2-6D | M3X0.5| 0.1N.m N MHL2-16D | M5X0.8 68 98 45
. > MHC2-10D | M3X0.5| 0.1N.m - MHL2-20D | M5X0.8 | 82 122 | 74
- MHG2-16D| M5X0.8] 0.39N.m s —1o|  § V MHL2-25D | M5X0.8 | 100 150 | 131
MHC2-20D | M5X0.8| 0.7N.m Q MHL2-32D | M5X0.8 | 150 220 228
MHC2-25D | M5X0.8| 1.36N.m MHL2-40D | M5X0.8 188 288 396




REIWA KANJI GROUP

Slide cylinder MXH series Slide ;vljin?‘d;;:;[s series > = SRS
3 MXSE 51 MeEn
MXHZR 51 3 < &1 e = BRES Modal |Tnreadsizel  Nate Dressurs
Madel | Threadsize| S'andard stroke m = e MXS6 | M3x0.5
MXHB | M5x0.8 ' }ff' MXS8 | M5x0.8
MXH8 | M5x0.8 . - MXS16 | M5x0.8 0.1-0.7Mpa
5-60 0.1-0.7Mpa .
MXH16 | M5x0.8 . MXS20 | G1/8 | Achiiaassium
MXH20 | M5x0.8 MXS25 G1/8 | Sorrmewesnuer
Hydraulic medium pressure cylinder MOB series e BRTR EAEN
EE QR A 3% A M 4 E
MOB 51| $2 2 v it &1 %ﬁ Bore #Eﬁ,ﬁ Standard stroke Pmﬁﬁn .iz:f Avallable Opsratiog
MO32 |32 | G1/4 25-500 M14x1.5 "
i ~MWE= FA-front flange
MO40 | 40 | G3/s 25-800 M16x1.5 FE-BEE e
e MO 50 50 G3/8 25~1000 M16x1.5 CA-’gg CA-single clavis
- 5 CB-3 CB-double clevis
MOB3 | 63 | G3/8 25-1000 M22x1.5 (B uME Coqoubleclevis | o 7Mpa
MOB80 | 80 | G1/2 25-1000 M26 x 1.5 Y-Y#%  y_Yjoint
MO 100 | 100| G1/2 25-1000 M30x 1.5 11 3 11 joint
MO125 | 125| Gi/2 | 25-1000 M40 x 2 TC-RMEM TC-centertrunnion
MO 160 | 160 | G3/4 25-1000 M52 x 2
Hydraulic high pressure cylinder HOB series = 2 51T T i A EREED
0 BEEFRGR
HOB 51 1 2 % FE i 1 toaw | St | Thauara | Svnaargbrore | FALETCURT v Sparteg
HO40 | 40 | G3/s 25-500 M22x 1.5
HO50 | 50 | G3/s 25-800 M26x 1.5 FA-HﬁE FA-front flange
= FB-5ikZ FB-rearflange
HO63 | 63 | G3/8 25-1000 M30x1.5 CAREE
HO 80 80 G1/2 25~1000 M30x 1.5 CB-WBHE CB-double clevis 0.1-14M
HO100 [ 100| G1/2 | 25-1000 M40 x 2 LB MM  LB-footbracket | o
HO125 | 125| G1/2 | 25-1000 M50 x 2 ket
HO160 | 160 | G3/4 25-1000 MB0 x 2 TC-Hi@#EHM TC-centertrunnion
HO200 | 200| G1 25-1000 M70 x 2
Boosting cylinder MPT series we |(URlggen| SEGTE | zsfpegRt | REEE | REDS {EE,EE,.:"
SHIMEEMPTRES) Model lfz’: Thread size - :““5 roxe Piston port size Speed Model me“m’
MPT-1T | 63 | G1/4 50-300 M26 x 1.5
MPT-3T |63 | Ga/8 50-300 M30x 1.5
MPT-5T | 80 | Gas 50-300 M30x1.5
MPT-10T | 100| Ga/8 50-300 M40 x 2 10%/43 6 "
MPT-13T | 100| G3/8 50-500 M40 x 2 =uAvcynder. [ 0-2-0.7Mpa
MPT-15T | 125| Ga/s 50-500 M50 x 2 10 times/min,| 't
MPT-20T | 125 | Ga/s 50-500 M50 x 2
MPT-30T | 125 G1/2 50-500 M63 x 2
MPT-40T | 160 | G1/2 50-500 M63 x 2
Boosting cylinder MPTF series me E& weriEn Sﬁ:&:}ﬁn EEFEgRT W g tgﬁﬂlin;f]
| odel read size ston port size pee odel
SR EAMPTFR S Model | (5S |Th o Fiison poet & Soewd Moa prossure.
MPTF-1T | 63 | G1/4 50~300 M26 x 1.5
MPTF-3T | 683 | Ga/s 50-300 M30x1.5
MPTF-5T | 80 | G3/8 50-300 M30x 1.5
MPTF-10T| 100 | G3/8 50-300 M40 x 2 10i/4r o robnre il
MPTF-13T| 100 | Gars 50-500 M40 x 2 Bl Tk D220 7 hpw
MPTF-15T| 125| Ga/8 50-500 M50 x 2 o e o
MPTF-20T| 125 | Ga/8 50-500 M50 x 2
MPTF-30T| 125 | G1/2 50-500 M63 x 2
MPTF-40T| 160| G1/2 50-500 M63 x 2
Boosting cylinder MPTS series e ?& Wi Sﬁfmﬁ&t ERTMYRT RIERE AmE %ﬁﬁnﬂ
odel read size ston port size i odel
SHREIMPTSE S Model Sive | Threadsi e e Piaten port st Speed Model pmsu-ag
MPTS-1T | 63 | G1/4 50-300 M26x 1.5
MPTS-3T | 63 | Ga/8 50~300 M30x1.5
MPTS-5T | 80 | G3/8 50-300 M30x 1.5
MPTS-10T| 100| G3/8 50-300 M40 x 2 10:R/5r8h g
MPTS-13T| 100| G3/8 50-500 M40 x 2 10 times/min.| A" cynae 0.2-0.7Mpa
MPTS-15T| 125| Ga/8 50-500 M50 x 2 ;
MPTS-20T| 125| G3a/8 50-500 M50 x 2
MPTS-30T| 125| G1/2 50~500 M63 x 2
MPTS-40T| 160 | G1/2 50-500 M63 x 2
Boosting cylinder MPTC series gﬁ |g@O| 'd “‘ e EERQQRT 8 (5 RenS {gﬁi‘ﬁnﬂ
S ESMPTCETS Model Oore | Thread size | Standard stroke | " pigton port size Speed Model inshyroll
MPTC-1T | 50 | G1/4 5101520 M16 x 2
MPTC-2T | 50 | G1/4 5101520 M16 x 2
i EI0H cylinder:
MPTC-3T | 63 | G1/4 5101520 M16 x 2 .
50~700mm/s | 300kgen v
MPTC-5T | 63 | G1/4 | 5101520 M16x2 v | DASIEEE
MPTC-10T| 80 | G3/8 5101520 M16 x 2
MPTC-13T| 100 | G1/2 5101520 M20 x 2.5




REIWA KANJI GROUP

Gas-liquid damping cylinder QGZN serieq we |02 | gus = T 3% FA B 4 HAEAH
o EEFRQRT
QGZNEF S fE R &I Model [ B9r® | Thrgagsize | Standard stroke Piston port size JDvaliable Opsrsting
QGZN32 |32 G1/8 25-500 M10x1.25
QGZN40 |40 G1/4 25-800 M12x1.25 FA-BIiKZ  FA-front flange
FB-Fik2 FB-rear flange
QGZN50 |50 G1/4 25-1000 CA-##H  CA-single clevis
CB-REH CB-double clevis
QGZN63 |63 G3/8 25~1000 ta;ul: LB-foot bracket 0.1-0.9Mpa
QGZN80 | 80 G3/8 25-1000 n.;n'f‘ iy
QGZN100 | 100 G1/2 25-1000 e i
QGZN125 | 125 G1/2 25-1000
Single Acting Actuator Output Torque SEFEIRE MM A (R AT Nm) Output torque of air to spring(Unit:Nm) ﬂggﬂi
BiERAHITRBHIAE
o
Alr supply prassure 4Bar 5Bar 7Bar 8Bar ";f;?'i:fg"“
me 0° 90° 0t 0° 90° 0 90° 0 90°
Modal FEAE ] R | W | BE | R | &%
Sping Qty| Start End Start Start End Start End Start End
AT52SR 1 |91 |62 | 138 21.8 [18.9 |26.1 |23.2 [ 10.8 | 7.9
ATB3SR 10 16.4 | 10.0 | 23.8 38.8 |32.5 |46.3 | 40.0 19.9 | 13.6
AT75SR 10 2902 | 185 | 41.6 66.3 |55.7 |78.7 |68.0 | 30.9 | 20.3
AT83SR 10 352 | 21.9 | 51.5 83.9 |70.6 |100.2|86.8 | 43.0 | 29.7
AT92SR 10 495 | 325 | 72.8 119.3/102.3 | 142.6| 125.6 | 60.6 | 43.6
AT105SR| 10 59.9 | 46,2 | 94.6 163.9| 150.1| 198.5| 184.7| 92.3 | 78.6
AT125SR| 10 | 139 | 86 201 323 |270 |385 |331 160 | 106
AT1408R| 10 191 103 | 284 469 380 |561 472 267 178
AT160SR| 10 | 291 | 162 | 432 713 |584 |854 |725 | 401 | 272
Double Ac_ting Actuator Output Torque me SRS HEARA: bar) Input air supply pressure(unit:bar)
AT32DA 6 0.1 121 4.1 6.1
AT52DA 8.5 12.7 1.2 25.5 29.7 34
AT63DA 5 22.5 37.5 44.9 52.4 59.7
AT75DA 21 31.8 53 63.6 74.2 84.8
AT83DA 32.5 48.7 A% 97.4 113.7 30
AT92DA 46.5 69.8 16. 140 162.9 86
AT105DA 69.3 104 73.2 207.8 242.5 277
AT125DA 108 162 324 37 432
AT140DA 184.7 277 .8 554 646.5 73!
AT160DA 281.5 422 844 98 1126
Shock absorbers AC series e BXREAEE[B XL FEA 7 #n | THERRREE
ACE }'l] i‘ﬂ Eﬂm’ * Modeal Mué:!::r:;‘bmq M;:.:’!I?:r::le stroke Thraad size Amhl:nmllum
AC080 2 6 0. 6mm M8 x 1 —-10-B0T
AC100! E = 0. 5mm M10x -10-80T
AC100! 4 9 0. Bmm M10 x -10~80C
AC1 5 30 0.8-3 10mm M12x -10-80T
AC1410 3 100 0.8-3 10mm M14x1.5 -10-80TC
AC1412 5 110 0.8~-3 12mm M14x1.5 -10~80T
AC1416 20 150 0.8-3 16mm M14x1.5 -10-80C
AC142 22 160 0.8-3 20mm M14x1.5 -10~80
AC14Z 25 170 0.8-3 25mm M14x1.5 -10-80T
AC20 35 600 1.0-3.2 15mm M20x1.5 -10-80T |
AC2020 40 700 1.0-3.5 20mm M20x1.5 -10-80TC
AC2025 45 720 1.0-3.5 25mm M20x1.5 -10-80T |
AC2030 50 750 1.0-3.5 30mm M20x1.5 -10-80C |
AC2050 60 1200 1.0~-3.5 50mm M20x1.5 -10-80T
AC2525 80 1500 1.0~4.0 25mm M25x 1.5 -10-80TC
AC2530 90 1800 1.0-4.0 30mm M25x1.5 -10-80C |
AC2540 120 200 1.0-4.0 40mm M25x1.5 -10-80T
AC2550 100 160 1.0-4.0 50mm M25x1.5 | -10-80C |
AC2580 150 200 1.0-4.0 80mm | M25x1.5 | -10-80T |
|AC3660 250 2400 1.0-4.0 60mm | M36x15 | -10-
ACD2030 45 900 1.0-4.0 30mm M20x1.5 -10-80T
ACD2035 45 650 1.0-4.0 35mm M20x1.5 | -10-801
ACD2050 52 500 1.0-4.0 50mm M20x1.5 -10-801
ACD2050-W 60 500 1.0-4.0 50mm M20x1.5 | -10-801
Shock absorbers AD series R gl&b <K It R g&uki‘l% 3 WarEn Iif%ﬂi:%ﬁ!
ADER 5 i [E 4 i 85 Modal “;n.’rg;, oy ;’l‘",h o (mlu?;? stroke Thread size m r'" ul
AD1410 20 100 0.8-3 10mm M14x1.5 -10-80T
AD1412 20 110 0.8-3 12mm M14x1.5 -10-80T
AD1416 22 150 0.8-3 16mm Midx1.5 -10-80C
AD1420 22 160 0.8-3 20mm M14x1.5 -10~80C
AD1425 28 170 0.8-3 25mm M14x1.5 -10-80T
AD2015 25 600 1.0-3.2 16mm M20x1.5 -10~80T
AD2020 35 700 1.0-3.5 20mm M20x 1.5 -10~B0TC
AD2025 39 720 1.0-3.5 25mm M20x 1.5 -10-80TC
AD2030 45 750 1.0-3.5 30mm M20x 1.5 -10~80C
AD2050 60 1200 1.0-3.5 50mm M20x1.5 -10-80C
AD2525 85 1500 1.0~4.0 25mm M25x1.5 -10~80T
AD2530 a5 1800 1.0-4.0 30mm M25x1.5 -10-80TC
AD2540 a8 2000 1.0-4.0 40mm M25x1.5 -10-80T
AD2550 100 160 1.0-4.0 50mm M25x1.5 -10-80TC
AD2580 150 200 1.0-4.0 80mm M25x1.5 -10-80T
AD3625 150 2400 1.0~-4.0 25mm M36x1.5 -10~-80TC
AD3650 300 2400 1.0-4.0 50mm M36x1.5 -10-80C




REIWA KANJI GROUP

Shock absorbers SR series s '.‘..ﬁ'ﬁ.?,.’,‘ﬁ.} ﬁﬁ%ﬁﬁ?’ s.’,ﬁ,ﬁﬁ.,;.% Al Iﬁ%ﬁmﬂ!
SRE 5 it [E 4 i 2% ey prehitoros {misec) temperature__|
SR-15 0.23kgf/m 3500N 0.5~30 15mm -10-80T
= SR-30 0.23kgf/m 3500N 0.5-30 15mm -10-80T
SR-60 0.23kgf/m 3500N 0.5-30 15mm -10-80T
SR-80 0.23kgt/m 3500N 0.5-30 15mm -10-80T
SR-100 0.23kgf/m 3500N 0.5-30 15mm -10-80T
S M4 Cylinder accessories
LB(MS1) oge g FAMF1) Mog Hos CA Moge Mo
LB(MS1)-16 | LB(MS1)-125 | |FB(MF2) FA(MF1)-16 | FA(MF1)-125 CA(MP4)-16 | CA(MP4)-125
LB(MS1)-20 | LB(MS1)-160 FA(MF1)-20 | FA(MF1)-160 CA(MP4)-20 | CA(MP4)-160
LB(MS1)-25 | LB(MS1)-200 FA(MF1)-25 | FA(MF1)-200 CA(MP4)-25 | CA(MP4)-200
LB(MS1)-32 | LB(MS1)-250 FA(MF1)-32 | FA(MF1)-250 CA(MP4)-32 | CA(MP4)-250
LB(MS1)-40 | LB(MS1)-320 FA(MF1)-40 | FA(MF1)-320 CA(MP4)-40 | CA(MP4)-320
LB(MS1)-50 | LB(MS1)-400 FA(MF1)-50 | FA(MF1)-400 CA(MP4)-50 | CA(MP4)-400
LB(MS1)-63 FA(MF1)-63 CA(MP4)-63
LB(MS1)-80 FA(MF1)-80 CA(MP4)-80
LB(MS1)-100 FA(MF1)-100 CA(MP4)-100
CB(mP2) ﬁ!;:l %Zu TC %ﬁ »jﬂoaqei TC-M(MT4) li!odqel %ﬁl
CB(MP2)-16 | CB(MP2)-125 TC-16 TC-125 TC-M(MT4)-16 | TC-M(MT4)-125
CB(MP2)-20 | CB(MP2)-160 TC-20 TC-160 TC-M(MT4)-20 | TC-M(MT4)-160
CB(MP2)-25 | CB(MP2)-200 TC-25 TC-200 TC-M(MT4)-25 | TC-M(MT4)-200
CB(MP2)-32 | CB(MP2)-250 TC-32 TC-250 TC-M(MT4)-32 | TC-M(MT4)-250
CB(MP2)-40 | CB(MP2)-320 TC-40 TC-320 TC-M(MT4)-40 | TC-M(MT4)-320
CB(MP2)-50 | CB(MP2)-400 TC-50 TC-400 TC-M(MT4)-50 | TC-M(MT4)-400
CB(MP2)-63 TC-63 TC-M(MT4)-63
CB(MP2)-80 TC-80 TC-M(MT4)-80
CB(MP2)-100 TC-100 TC-M(MT4)-100
! b ds Y ods Mot BSC Mogt) b
1-16 1-125 Y-16 Y-125 BSC-16 BSC-125
1-20 1-160 Y-20 Y-160 BSC-20 BSC-160
1-25 1-200 Y-25 Y-200 BSC-25 BSC-200
1-32 1-250 Y-32 Y-250 ‘ BSC-32 BSC-250
1-40 1-320 Y-40 Y-320 ‘ BSC-40 BSC-320
1-50 1-400 1 Y-50 Y-400 a BSC-50 BSC-400
1-63 Y-63 BSC-63
1-80 Y-80 BSC-80
1-100 Y-100 BSC-100
£ R 38 5K b . FEhiEsk o] 4.4 FEWILE 5] . f
Fisheye adapter Floating Stainless steel
EM FM-M5x 0.8 FM-M27 x2 connector FD | FD-M4x0.7 FD-M20x1.5 i ta tlad MAL16 MA16
FM-M6 x 1 FM-M36 x 2 FD-M5x0.8 FD-M27 x 2 MAL20 MA20
’ FM-M8x1.25 | FM-M42x2 FD-M6x 1 FD-M36 x 2 MAL25 MA25
FM-M10x1.25 FD-M8x1.25 MAL32 MA32
: FM-M12x1.25 FD-M10x1.25 MAL40 MA40
FM-M14x1.5 FD-M12x1.25
- & FM-M16x1.5 FD-M14x1.5
FM-M18x1.5 FD-M16x1.5
FM-M20x1.5 FD-M18x1.5
7= fE 28 iEASa A ikl aEH 38 bt 1) L
Product pheto Model Applicable cylind Y Product photo Madel A Y Y
-\ CS1-F | SC. MAL. MA, CM2, CJ2, c85 | F_ k D-C73 | CDM2B. MA. C85. MAL .
i— CS1-U | SC. MAL. MA, CM2, CJ2, c85 | 3T ﬂ mems | D-A54 | STMS. CRQ1, CDRA1 L.
* CS1-8 | MAL, MA, CM2, CJ2, C85 . \ D-273 giﬁ'm“:‘:‘i‘;‘m':{g;‘s&;ﬁ; » k.3
€Q2, CQS, CDU, MXH. MXQ,
h cs1-) | spA. TN \ D.Ags | MXS. MSQB, CRQ2, MK.
SCL(R). MHZ2, MHSHI:6-20
CY1R(CY3R)KI2:6~20
S | CS1-G | SDA, STMB
‘ CS1-M | DNC, CXS. ADVU, MHZ2 h DLy | .




REIWA KANJI GROUP

F.R.L Unit =B f4(Three unit) e gR EHEBEM i je
Model Thread size | Max.rated flow |Pressure range F Pressure gauge Note
AC2000-01 G1/8 | 900 L/min 0.15-0.85Mpa 25um Y40-01
AC2000-02 | G1/4 | 800 L/min 0.15-0.85Mpa 25um Y40-01 i3 HEk B
AC3000-02 | G1/4 | 1500L/min | 0.15-0.85Mpa 25um Y40-01 | Driterent
AC3000-03 G3/8 2000 L/min 0.15~0.85Mpa 25um Y40-01 drain
AC4000-04 G1/2 | 4000 L/min 0.15-0.85Mpa 25um Y50-02
AC4000-06 G3/4 4500 L/min 0.15-0.85Mpa 25um Y¥50-02
AC5000-06 G3/4 | 5000 L/min 0.15-0.85Mpa 25um ¥50-02
AC5000-10 G1 5000 L/min 0.15~-0.85Mpa 25um Y50-02
F.R.L Unit :ﬁ#(TWO unit) me g R
Model Thread size | Max.raled flow |Pressure adjustable range Fittration Pressure gauge Note
AC2010-01 G1/8 900 L/min 0.15~0.85Mpa 25um Y40-01
AC2010-02 G1/4 500 L/min 0.15-0.85Mpa 25um Y40-01 E & Hik R
AC3010-02 | Gi/4 | 1700L/min | 0.15-0.85Mpa 25um Vo091 | I
AC3010-03 G3/8 1700 L/min 0.15-~0.85Mpa 25um Y40-01 drain
AC4010-04 G1/2 3000 L/min 0.15~0.85Mpa 25um Y50-02
AC4010-06 G3/4 3000 L/min 0.15~0.85Mpa 25um Y50-02
AC5010-06 | G3/4 [ 5000 L/min 0.15-0.85Mpa 25um Y50-02
AC5010-10 G1 5000 L/min 0.15-0.85Mpa 25um Y50-02
Filter+regulator ne BURT| BxAE & HimsEE fon- 4. 1 4 Ehx L]
'm &ﬁn g! Model Thread size | Max.rated flow |Pressure adjustable range Fittration Pressure gauge Note
AW2000-01 G1/8 500 L/min 0.15-0.85Mpa 25um Y40-01
AW2000-02 G1/4 550 L/min 0.15~0.85Mpa 25um Y40-01 Eiﬁ?kﬂ
AW3000-02 | G1/4 | 2000L/min | 0.15-0.85Mpa 25um Yoo |
= AW3000-03 G3/8 2000 L/min 0.15-0.85Mpa 25um Y40-01 drain
AW4000-04 | G1/2 | 4000 L/min 0.15-0.85Mpa 25um Y50-02
AW4000-06 G3/4 4500 L/min 0.15-0.85Mpa 25um Y50-02
. AWS5000-06 G3/4 5500 L/min 0.15-0.85Mpa 25um Y50-02
AWS5000-10 G1 5500 L/min 0.15~0.85Mpa 25um Y50-02
Filter EREE
gq‘ﬁﬂﬂ I;ﬂua‘?l Thread size Mﬁﬁl%%ﬂ Fittration mmper:lun}‘am&nm il?.af
AF2000-01 G1/8 750 L/min 25um -5-.55T
AF2000-02 G1/4 750 L/min 25um -5-55T AR
AF3000-02 G1/4 1500 L/min 25um _5-55T ool
AF3000-03 Ga/s 1500 L/min 25um _5.55C drain
AF4000-04 G1/2 4000 L/min 25um -5-85%C
AF4000-06 G3/4 6000 L/min 25um -5-55T
AF5000-06 Ga/4 7000 L/min 25um _5-55T
AF5000-10 G1 7000 L/min 25um _5-55T
Regulator e
AES Model Thread size Max.rated Ifcw Pressure adjustable range Pressure gauge
AR2000-01 G1/8 550 L/min 0.15-0.85Mpa Y40-01
AR2000-02 G1/4 550 L/min 0.15-0.85Mpa Y40-01
AR3000-02 G1/4 2000 L/min 0.15-0.85Mpa Y40-01
AR3000-03 G3/8 2000 L/min 0.15~0.85Mpa Y40-01
AR4000-04 G1/2 4000 L/min 0.15-0.85Mpa Y50-02
AR4000-06 G3/4 4500 L/min 0.15~0.85Mpa Y50-02
AR5000-06 G3/4 5500 L/min 0.15-0.85Mpa Y50-02
ARS5000-10 G1 5500 L/min 0.15-0.85Mpa Y50-02
Lubricator ; EHRaR
ME R I%d?i Thread size Mﬁ.r*ntﬁﬁw Recommended oil ,.méf.im‘,‘" ango |
AL2000-01 G1/8 750 L/min -5-55T
AL2000-02 G1/4 750 L/min -5-55T
AL3000-02 G1/4 1500 L.fmi.n 1SO VG32 -5-55T
AL3000-03 G3a/8 1500 Um!n BEEIS -5-55T
AL4000-04 G1/2 4000 L/min -5-55T
AL4000-06 G3/4 6000 L/min -5-55T
AL5000-06 G3/4 7000 L/min -5-55T
AL5000-10 G1 7000 L/min -5~55T
F.R.L Unit with Auto drain W R EAiBwEEm e Eh% i385
ER#(ThI’EE unit) Model Thread size | Max.rated flow |P | range F P gauge Note
AC2000-01D G1/8 900 L/min 0.15-0.85Mpa 25um Y40-01
AC2000-02D G1/4 900 L/min 0.15-0.85Mpa 25um Y40-01 Eﬂiﬁﬂt_ﬂ
AC3000-02D | G1/4 | 1500L/min | 0.15-0.85Mpa 25um Y40-01 Ao
AC3000-03D G3/8 2000 L/min 0.15~0.85Mpa 25um Y40-01
AC4000-04D G1/2 4000 L/min 0.15~0.85Mpa 25um Y50-02
AC4000-06D G3/4 4500 L/min 0.15-0.85Mpa 25um Y50-02
AC5000-06D G3/4 5000 L/min 0.15~0.85Mpa 25um ¥50-02
ACS5000-10D G1 5000 L/min 0.15~0.85Mpa 25um Y50-02




REIWA KANJI GROUP

F_HL Unlt With .Al...ltO dflaﬂ D?odqe'l %gﬁ;{ Mﬁ.r*l!ﬁgw Prnuumud‘wslga’r;nga flt??nﬁ:rit PIEM?Z&HD' Note
=B (Two unit) AC2010-01D | G1/8 500 L/min 0.15-0.85Mpa 25um Y40-01
AC2010-02D | G1/4 500 L/min 0.15~0.85Mpa 25um Y40-01 ﬁzﬁﬁﬁ
AC3010-02D | G1/4 1700 L/min 0.15~0.85Mpa 25um Y40-01
AC3010-03D| G3/8 | 1700L/min 0.15~0.85Mpa 25um Y40-01
AC4010-04D | G1/2 | 3000 L/min 0.15~0.85Mpa 25um Y50-02
l ] AC4010-06D | G3/4 | 3000 L/min 0.15-0.85Mpa 25um ¥50-02
AC5010-06D | G3/4 | 5000 L/min 0.15-0.85Mpa 25um Y50-02
AC5010-10D G1 5000 L/min 0.15~0.85Mpa 25um Y50-02
Filter+regulator with Auto drain ne B R~ BARE i o B % RA
i E ﬁ F Model Thread size Max rated flow Pressure adjustable range Fittration Note
AW2000-01D| G1/8 550 L/min 0.15~0.85Mpa 25um
AW2000-02D| G1/4 550 L/min 0.15~0.85Mpa 25um
AW3000-02D| G1/4 2000 L/min 0.15-0.85Mpa 25um
AW3000-03D| G3/8 2000 L/min 0.15-0.85Mpa 25um & 2 kA
AW4000-04D | G1/2 4000 L/min 0.15-0.85Mpa 25um Auto drain
AW4000-06D | G3/4 4500 L/min 0.15-0.85Mpa 25um
AWS5000-06D | G3/4 5500 L/min 0.15~0.85Mpa 25um
AWS5000-10D G1 5500 L/min 0.15~0.85Mpa 25um
Filter with Auto drain me SR+ P B %%ﬂ.ﬂ %08
== q ﬂﬂiﬁ Model Thread size Max.rated flow Fittration Ialnperalum F?imge Note
AF2000-01D G1/8 750 L/min 25um -5-55T
AF2000-02D G1/4 750 L/min 25um -5.55C
AF3000-02D G1/4 1500 L/min 25um -5-55T
AF3000-03D Ga/8 1500 L/min 25,m 5-55C ety
AF4000-04D G1/2 4000 L/min 25um —5~55%T
AF4000-06D G3/4 6000 L/min 25um -5-55T
AF5000-06D G3/4 7000 L/min 25um -5-55T
AF5000-10D G1 7000 L/min 25um -5-55T
ngh‘Pressure Regulator me e R+ P Mg %ﬂﬁn&
! E ﬁ E ﬁ Maodel Thread size Max.rated flow Pressura range #Iﬂﬂl Pressure gauge
HQTY-08 G1/4 750 L/min 0-4Mpa -5-55T ¥50-10-02
HQTY-10 G3/8 1800 L/min 0~4Mpa -5-55T Y50-10-02
HQTY-15 G1/2 3000 L/min 0~4Mpa -5-55¢C ¥50-10-02
HQTY-20 G3/4 5000 L/min 0-4Mpa -5-55T Y50-10-02
HQTY-25 G1 7000 L/min 0-4Mpa -5-56'C Y50-10-02
BaOussar me ExRm | EhAmeE | CREE [ mas [ wm
‘m E ﬂ Model Thread size | Max.rated flow |Pressure adjustable range mmp-r.li:?rl'“?mm Pressura gauge Note
QTY-08 G1i/4 750 L/min 0.15~0.9Mpa -5~55T Y40-01
QTY-10 G3/8 | 1800 L/min 0.15-0.9Mpa -5-55T Y40-01
QTy-15 G1/2 | 3000 L/min 0.15~0.9Mpa -5-55T Y40-01  |paeme s
QTY-20 G3/4 | 5000 L/min 0.15~0.9Mpa -5-55T ¥50-02  |Max.operating
: QTY-25 G1 7000 L/min 0.15~0.9Mpa -5-55T Y50-02 ﬁm‘
QTY-35 G1-1/4 | 9000 L/min 0.15-0.9Mpa -5-55T Y50-02
QTY-40 G1-1/2 | 11000 L/min 0.15-0.9Mpa -5-55T Y50-02
QTY-50 G2 13000 L/min 0.15-0.9Mpa -5-55T ¥50-02
Filter EHEE
F=itEEE D%EI Thread size Mn.rxﬂgﬂluw hm!em:;‘,i" nge Fittration ir?nE
QSL-08 G1/4 750 L/min -5-55T 25um
QSL-10 G3/8 1800 L/min -5-55T 25um
QSL-15 G1/2 3000 L/min -5-55T 26um | mms
- QSL-20 G3/4 5000 L/min -5-55T 25um Max.operating
QSL-25 G1 7000 L/min -5-55T 25um gm
. 1Y QSL-35 Gi1-1/4 9000 L/min -5-55T 25um
1 - QSL-40 G1-1/2 11000 L/min -5-55T 25um
QSL-50 G2 13000 L/min -5-55T 25um
Lyibiicatay me | R Pt EREE RAM |
ﬂ ; aE Model Thread size Max.rated flow lﬂmg!l":.ll.ll! nge Recommended oil Note
Qlu-08 G1/4 750 L/min -5-55T
Qlu-10 G3/8 1800 L/min -5-55T
- Qlu-15 G1/2 3000 L/min -5-55T ISOVG32 |BEemEs
Qlu-20 G3/4 5000 L/min -5~55T HE1Sil [Maxoperating
i - Qlu-25 G1 7000 L/min -5-55T — gm
Qlu-35 G1-1/4 9000 L/min -5-55T ARMTE
Qlu-40 G1-1/2 11000 L/min -5-55T @il
Qlu-50 G2 13000 L/min -5-55T




REIWA KANJI GROUP

Model Thread size| Max.rated flow |Pressure adjustable range Fittration Prassure gauge Note
OC-04(MAXI) G1/2 7600 L/min 0.15~0.85Mpa 25um Y40-01
OC-06(MAXI)| G3/4 | 8300L/min | 0.15-0.85Mpa 25um Y40-01
OC-10(MAXI) G1 8500 L/min 0.15~0.85Mpa 25um Y40-01
0OC-02(MIDI1) G1/4 1500 L/min 0.15~0.85Mpa 25um Y40-01 38 kA
OC-03(MIDI) | G3/8 | 2000L/min | 0.15-0.85Mpa 25um Y40-01 Ditferont
OC-04(MIDI) G1/2 2600 L/min 0.15-0.85Mpa 25um Y50-02 pressure
OC-06(MIDI) G3/4 2600 L/min 0.15~0.85Mpa 25um Y50-02 drain
OC-02(MINI) G1/8 700 L/min 0.15~0.85Mpa 25um Y50-02
OC-03(MINI) G1/4 1000 L/min 0.15-0.85Mpa 25um Y50-02
OC-04(MINI) G3/8 1200 L/min 0.15-0.85Mpa 25um Y50-02
OFC# 5 —Bt (Two unit) ne WART BARKE EhE LA8
Model Thread size| Max.rated flow |Pressure adjustable range Fittration Pressure gauge Note
OFC-04(MAXI) G1/2 7600 L/min 0.15-0.85Mpa 25um Y40-01
OFC-06(MAXI) | G3/4 8300 L/min 0.15-0.85Mpa 25um Y40-01
OFC-10(MAXI) G1 8500 L/min 0.15-0.85Mpa 25um Y40-01
= OFC-02(MIDI) G1/4 1500 L/min 0.15-0.85Mpa 25um Y40-01 kR
OFC-03(MIDI) G3/8 2000 L/min 0.15-0.85Mpa 25um Y50-02 Different
OFC-04(MIDI) | G1/2 | 2600L/min | 0.15~0.85Mpa 25um Y50-02 P
| i OFC-06(MIDI) | G3/4 | 2600L/min | _0.15-0.85Mpa 25.m Y50-02 e
- OFC-02(MINI) G1/8 700 L/min 0.15-0.85Mpa 25um Y50-02
OFC-03(MINI) G1/4 1000 L/min 0.15~0.85Mpa 25um Y50-02
OFC-04(MINI) | G3/8 | 1200L/min | 0.15-0.85Mpa 25um Y50-02
Filter+regulator g
OFRifl [Eid )& 28 »?;E« #Eﬁ;{ Max.rated flow |Pressure adjustable range Fittration Pressure gauge ir’:::E
OFR-04(MAXI) | G1/2 9400 L/min 0.15~0.85Mpa 25um Y40-01
OFR-06(MAXI) | G3/4 | 9700L/min | 0.15-0.85Mpa 25um Y40-01
OFR-10(MAXI) G1 10000 L/min 0.15~0.85Mpa 25um Y40-01
OFR-02(MIDI) G1/4 2000 L/min 0.15~0,85Mpa 25um Y40-01 8 HE kR
OFR-03(MIDI) | G3/8 [ 3100 L/min 0.15~0.85Mpa 25um Y50-02 Different
. OFR-04(MIDI1) G1/2 3400 L/min 0.15-0.85Mpa 25um Y50-02 pressure
. ' OFR-06(MIDI) | G3/4 | 3400 L/min | 0.15-0.85Mpa 25um Y50-02 uain
2 QFR-02(MINI) G1/8 750 L/min 0.15-0.85Mpa 25um Y50-02
OFR-03(MINI) G1/4 1400 L/min 0.15-0.85Mpa 25um Y50-02
OFR-04(MINI) G3/8 1600 L/min 0.15~0.85Mpa 25um Y50-02
Regulator
ORiAE ) Iﬁgl #gﬁi‘g Max rated llow Pressure adjustable range Fittration Prassure gauge
OR-04(MAXI) G1/2 10700 L/min 0.15-0.85Mpa 25um Y40-01
OR-06(MAXI) G3/4 12000 L/min 0.15-0.85Mpa 25um Y40-01
OR=10(MAXI) G1 12500 L/min 0.15~0.85Mpa 25um Y40-01
OR-02(MIDI) G1/4 2200 L/min 0.15~0.85Mpa 25um Y40-01
OR-03(MIDI) G3/8 3300 L/min 0.15~0.85Mpa 25um Y40-01
OR-04(MIDI) G1/2 4000 L/min 0.15-0.85Mpa 25um Y50-02
OR-06(MIDI) G3/4 4500 L/min 0.15~0.85Mpa 25um Y50-02
OR-02(MINI) G1/8 1000 L/min 0.15-0.85Mpa 25um Y50-02
OR-03(MINI) G1/4 1600 L/min 0.15-0.85Mpa 25um Y50-02
OR-04(MINI) G3/8 1800 L/min 0.15~0.85Mpa 25um Y50-02
Fliter me QR+ B X i
OFﬂﬁiﬁ Mode! Thread size Max.rated flow Fittration Note
OF-04(MAXI) G1/2 4400 L/min 25um
‘ OF-08(MAXI) G3/4 5000 L/min 25um
OF-10(MAXI) G1 5300 L/min 25um
OF-02(MIDI) G1/4 1900 L/min 26um EEAkR
OF-03(MIDI) G3/8 2700 L/min 25um Different
OF-04(MIDI) Gi/2 3000 L/min 25um prassure
OF-06(MIDI) G3/4 3000 L/min 25um
OF-02(MINI) G1/8 1000 L/min 25um
OF-03(MINI) G1/4 1200 L/min 25um
OF-04(MINI) G3/8 1400 L/min 25um
Lubricator
OLimESE %a?a Thr;&anﬁu‘:t Max.rated flow
OL-04(MAXI) G1/2 8300 L/min
OL-06(MAXI) G3/4 8400 L/min
' pes OL-10(MAXI) G1 9000 L/min
OL-02(MIX1) G1/4 2800 L/min
OL-03(MIDI) G3/8 5500 L/min
OL-04(MIDI) G1/2 6100 L/min
OL-06(MIDI) G3/4 6300 L/min
OL-02(MINI) G1/8 1300 L/min
OL-03(MINI) G1/4 2300 L/min
OL-04(MINI) G3/8 2700 L/min




REIWA KANJI GROUP

F.R.L Unit ZBk{$(Three unit) me S9R+| BrRE - e ®m
Model Thread size | Max.rated fiow |Pressure adjustable range Fitlration Pressure gauge Note
AC2000 G1/4 750 L/min 0.15~0.85Mpa 25um Y40-01
BC2000 G1/4 | 1000L/min | 0.15~0.85Mpa 25um Y50-02 Ei)ﬁfz ’et.}”
BC3000 G3/8 | 1500 L/min 0.15-0.85Mpa 25um Y50-02 pressure
BC4000 G1/2 | 3000 L/min 0.15-0.85Mpa 25um Y50-02 drain
Bl S QR Enmesm | s R
Model Thread size | Max.rated flow |Pressure adjusiable range Fittration Pressure gauge Note
AFC2000 G1/4 750 L/min 0.15-0.85Mpa 25um Y40-01
BFC2000 G1/4 | 1000L/min | 0.15-0.85Mpa 25um Y50-02 |EEHAR
7 BFC3000 G3/8 | 1500L/min | 0.15-0.85Mpa 25um Y50-02 Dr'g:;:;‘;
v ' BFC4000 G1/2 | 3000L/min | 0.15-0.85Mpa 25um Y50-02 e
Filter+regulator
BETIERE I%ﬁ Thr?adﬂsl: Max rated flow |Pressure adjustable range Fil?a'l'lon Pressure gauge %E
AFR2000 G1/4 750 L/min 0.15~0.85Mpa 25um Y40-01
BFR2000 | G1/4 | 1000L/min | 0.15-0.85Mpa 25um T et
3 u BFR3000 G3/8 1500 L/min 0.15-0.85Mpa 25um Y50-02 pressure
i BFR4000 G1/2 | 3000L/min | 0.15-0.85Mpa 25,m Y50-02 i
o oo MR | BARR | EHAESG ERER
ﬂ E is Model Thread size Max.rated tlow Pressure adjustable range temparature Range Pressure gauge
AR2000 G1/4 750 L/min 0.15-0.85Mpa -5-55T Y40-01
BR2000 G1/4 1000 L/min 0.15~0.85Mpa -5-55T Y50-02
BR3000 G3/8 1500 L/min 0.15-0.85Mpa -5-55T Y50-02
BR4000 G1/2 3000 L/min 0.15-0.85Mpa -5-55T Y50-02
Filter
SETIERS g Model T‘hl?lﬁlg Max_rated flow Fittration s o?’t:]‘r"“ K %E
& AF2000 G1/4 750 L/min 25um -5-55T
§ BF2000 G1/4 1000 L/min 25um -5-55T ’%ﬁ,ﬁﬁ?
1 . BF3000 G3/8 1500 L/min 25um -5-55T pressure
BF4000 G1/2 3000 L/min 25um -5-55T eeh
kubrieator e B R 8K i ERERE i
mMEEE Modal Thread size Max.rated flow [.mp.,plmm nge Recommendad oll
‘ AL2000 G1/4 750 L/min —5-55T
R BL2000 G1/4 1000 L/min -5-56T 1ISO VG32
—”? BL3000 G3/8 1500 L/min -5-55T EE1EH
BL4000 G1/2 3000 L/min -5-55T
Regulator RO R~ BAKE FE i s sE M EAH*®
.H E iﬁ Model Thread size Max.rated flow Pressure adjustable range Pressure gauge
UR-02 G1/4 90 L/min 0.15-0.85Mpa Y40-01
UR-03 G3/8 900 L/min 0.15~0.85Mpa Y40-01
- UR-04 G1/2 1500 L/min 0.15~0.85Mpa Y50-02
2 UR-06 G3/4 1500 L/min 0,15~0.85Mpa Y50-02
UR-08 G1 2000 L/min 0.15-0.85Mpa Y50-02
Lubricator -
HE AR - Madel Thread size Max rated flow
‘ uL-02 Gi/a 90 L/min
4 UL-03 Ga/8 900 L/min
UL-04 G1/2 1500 L/min
UL-06 G3/4 1500 L/min
uUL-08 G1 2000 L/min
Filter e e R B
Hﬂiﬁ Model Thread size Fittration Note
UF-02 G1/4 25um
UF-03 Ga/s 25um 52 8 Ak B
UF-04 G172 25um i
UF-06 G3/4 25um drain
UF-08 G1 25um
Filter+regulator
ﬂ Eﬁ H g ‘ O%E] #rﬁﬁlﬁ Pressure adjustable range Fiuvnﬁa‘rit Pressure gauge i&?
Q UFR-02 G1/4 0.15~0.85Mpa 25um Y40-01
‘ UFR-03 G3/8 0.15~0.85Mpa 25um Y40-01 FE 2 Hi 7k B
UFR-04 G1/2 0.15-0.85Mpa 25um ¥50-02 b
UFR-06 G3/4 0.15~0.85Mpa 25um Y50-02 drain
UFR-08 G1 0.15~0.85Mpa 25um Y50-02




REIWA KANJI GROUP

F.R.L Unit ZEX¥4(Two unit)
e By Rt % 75 E } AR
Model Thread size Pressure adjustable range Fittration Pressure gauge Note
UFR/L-02 G1/4 0.15~0,85Mpa 25um Y40-01
UFR/L-03 G3/8 0.15~0.85Mpa 25um Y40-01 %= EHEAR
UFR/L-04 G1/2 0.15-0.85Mpa 25um VEo.p. SR
UFR/L-06 G3/4 0.15-0.85Mpa 25um Y¥50-02 drain
UFR/L-08 G1 0.15~0.85Mpa 25um Y50-02
F.R.L Unit =BX#¥(Three unit)
s B R~ Eh g4 7: 4 A
& Madel Thread size Pressure adjustable range Fittration Pressure gauge Note
UFRL-02 Gi1/4 0.15~0.85Mpa 25um Y40-01
UFRL-03 G3/8 0.15-0.85Mpa 25um Y40-01 £ FEHE AR
UFRL-04 G1/2 0.15-0.85Mpa 25um yao.gp [FINEM
UFRL-06 G3/4 0.15-0.85Mpa 25um Y50-02 drain
UFRL-08 G1 0.15-0.85Mpa 25um Y50-02
F.R.L Unit —W‘*(TW unit) we [maR EHEEEE | gemE B h# e
Model Thread size | Max.rated flow |Pressure adjustable range Fittration Pressure gauge Note
SFC200 G1/4 | 1700 L/min 0.15-0.85Mpa 25um Y40-01 ExhikE
SFC300 G3/8 2300 L/min 0.15~-0.85Mpa 25um Y40-01 Manual drain
SFC400 G1/2 | 3000 L/min 0.15~0.85Mpa 25um Y40-01
Fittersranuintar B8 (MaRt| BxRE | EAWEGE | gmew | Bk | @@
VI ET e Model Thread size | Max.rated flow |P i range F gauge Note
SFR200 G1/4 | 2000 L/min 0.15-0.85Mpa 25um Y40-01
l SFR300 G3/8 | 3000 L/min 0.15-0.85Mpa 25um Y40-01 Mihmﬁﬁgn
SFR400 G1/2 | 4000 L/min 0.15-0.85Mpa 25um Y40-01
Lubirieatir we SR+ B XM E i ERARE
HERS Model Thread size Max.rated flow Recommended oil temperature Range
SL200 G1/4 1500 L/min -5-55T
ISO VG32
l SL300 G3/8 2300 L/min ETIEM -5-55T
SL400 G1/2 4000 L/min -5-55T
RO7 Se‘nes regulator @R+ - EHE%E %;E.EF
07%& 518 28 Model Thread size Max.rated fiow Pressure adjustable range R s F?Bﬂu'
RO7 G1/4 750 L/min 0.15-0.9mpa -50-55T
Auto drainer EREN Hizk OERE R Eiﬁﬁ!
B B R~ BXik AR
* e E ﬁj ﬁt* a . Model Thread size | Max.rated flow gm:ﬂ:‘.' of ar:?:mmh mmpurllule alngu Note
AD202-04
2500 L/min 0-10Mpa ﬁfﬁg
AD402-04
AD402-04 AOK20B BEhHk®
AOK20B 400L/H -5-55C | A0 drain
G1/2
HAD202 800L/H
PS-15 HAD202 PS-15 600L/H
RN e BeR we B R
EhH* Model Thread size Madel Thread size
Y40-01 G1/8 GU40 G1/8
y Y40-02 G1/4 GUS0 G1/4
@ ¥Y50-01 Gi/8 GF40 G1/8
Y50-02 G1/4 GF50 G1/4
Y63-02 2.5° G1/4 GP40 G1/8
¥ Y80-02 3" G1/4 GP50 G1/4
YB80-04 3" G1/2
Y100-04 4" Gi/2
Bracket We Special oil in Lubricator
e B
HR AT Moda e Mose | I ERE Witk Mose
:\:22{;30-22 AF2000-02 AR2000
0- AF3000-03
AFR2000
SFR200 AF4000-04
AR3000-03 AFEOO0S10 BR2000
AW3000-03 BFR2000
SFR300 Bs RH-01
AR4000-04 Model BR3000
AWA4000-04 L %F: BFR3000
SFR400 :
AR5000-10 OF BENORA
AWS5000-10 oL BFR4000




REIWA KANJI GROUP

Solenoid valve 2P/2V 025 series
B |gR L@ AR cvia | mx |BAEZR
2P/2V 025% %I| B &4 18 Model Threadsize | Effective area ro"'"framg, CV value Type %,p:":ﬂr.ﬂ Voltage
A 5 2P/2V025-06 | G1/8 2.5mm -10-80C 023 | zIze éc.%;é
212 way 0-10Mpa AC3IEV
2P/2V 025-08 G1/4 2.5mm _5-85C DEEIl e prdiod
AC380V
Solenoid valve 3V1 series
3VIR B a
| e | seny | mEne | GRLF | ovm | mx |BRA7| A
553 temperature Range CV value Type prossure Voliage
3V1-08 G1/8 2.5mm -20-70C 023 | 383 Daev
— 0.15-0.8Mpa fgg
3V1-08 G1/4 2.5mm -20~70C L e Aczzoy
AC380V
Solenoid valve 3V series
VR R ne VGRYT | 3 A CViii mt (RAEA g
. b Model Thread size Effective area 1,,,,,,‘.’?,':{,',2" ange CV value Type ?,f:::ﬂ?,q Voltage
3V110-06 G1/8 12mm? -20~70T 0.87 [5enme
3V210-08 Gi1/4 16mm? -20-70T 088 |iarnaiy poted
3V310-10 Ga/8 30mm? -20-70T 187 |san bczey
3V410-15 G1/2 50mm? —20-70T 279 [Caonseeen| oo oovpn | Acaey
3V120-06 G1/8 12mm? ~20-70T 0.67 |30:8. pritiy
3V220-08 G1/4 16mm? -20-70T 0:89 | ohona R
3V320-10 Ga/8 30mm? -20-70C 167 |nam
3V420-15 G1/2 50mm? -20-70T R
Solenoid valve 4V series e R
R+ | REBIS RiRE cv mx |EREH
AVE 5 SR Modal Threadsize | Effective area mmpgr’:t:x.r:"?ange cv nﬁn Tyis c;f:;:ﬂ:‘: vlglﬁ'a
4V110-06 G1/8 12mm? —20-70C 0.67 igi:a
4V210-08 G1/4 16mm? —20-70T DBB | oy sied
4V310-10 G3/8 30mm? -20~70T 167 |inn
4V410-15 G1/2 50mm? -20-70T P P
4V120-06 G1/8 10mm? -20-70T 087 [RiTEs
4V220-08 G1/4 16mm? —20-76'C DBO N ey swted
4V320-10 G3/8 25mm? -20-70TC 140 |Eas"™
4V420-15 G1/2 50mm? —20-70T ] s Shucttiat —
4V130-06C G1/8 9mm? -20-70C 0.50 |Eo==. DC24v
4V230-08C G1/4 12mm? ~20-70C 0.87 | vamboisns | 015-08Mpa |  AGaSY
4V330-10C G3/8 18mm? _20-70C 1,00 | muswan pritiy
4V430-15C Gi1/2 30mm? -20-70T 188 || S "
4V130-06E G1/8 9mm? -20-70T 0.50 gﬁi‘:z
4V230-08E G1/4 12mm? -20-70T 0.78 :;_'%r;w
3t 4V330-10E G3/8 18mm? -20-70C 1.00 [ BuNEn.
P 4V430-15E G1/2 30mm? -20-70CT 1.68 | Sneume
o= 4V130-06P G1/8 9gmm?* -20-70T 0.50 | miexsx
’ 4V230-08P G1/4 12mm? -20-70T 0.78 E;"':-;;M
4V330-10P Ga/a 18mm? -20-70C 1.00 |memsas
4V430-15P G1/2 30mm? -20~-70T | [ty
Solenoid valve 4M series
w8 EREE | cym |zmm BEEAD
4M ﬁ §|] mﬁ m Mode! Thread size | Effective area mmpsm::g'?am, cv VED Coll PNIE %&E %f:;:::p.“ Voltage
4M110-06 G1/8 12mm?* —20-70T 0.67 ook,
4M210-08 G1/4 12mm? -20-70C 0.89 Nasnaly phowd
4M310-10 G3/8 12mm? -20-~-70T 0.67 vl
4M410-15 G1/2 12mm? -20-70T 2.80 E‘f‘,"?:.‘.:."""""
4M120-06 G1/8 12mm? -20-70C 0.67 :g;gﬁ
4M220-08 G1/4 12mm? —20-70T 0.89 Indatnady plated
4M320-10 G3/8 12mm? -20-70T 1.40 e
4M420-15 G1/2 12mm? -20-70T 2.80 i f e
4M130-06C | G1/8 | 7mm* 20-70C__ | 0.67 S DCaev
4M230-08C G1/4 12mm? =20-70C 0.67 rtormaly piciat BORE
artrg type 0.15-0.8Mpa AC3BY
4M330-10C | G3/8 18mm? -20-70T 1.00 atmsm il
4M430-15C G1/2 30mm? -20-70T 1.68 frereas i
4M130-06E | G1/8 | 7mm? -20-70C | 0.67 [N
4M230-08E | G1/4 | 12mm? _20-70C | 0.78 i s
4M330-10E G3/8 18mm? -20-70C 1.00 ot
4M430-15E | G1/2 | 30mm? —20-70T 1.68 o e
4M130-06P G1/8 7mm? -20~70T 0.67 e
53wy
4M230-08P | G1/4 12mm? -20-70T 0.78 Tﬁ.’f‘&;"""
4M330-10P G3/8 18mm?* -20-70T 1.00 oot
4M430-15P | Gi1/2 30mm? _20-70T 1.68 et




REIWA KANJI GROUP

Solenoid valve VF/DS series NS EREA
VF/DSH ) i B | MR | MRAR, | e | SV T | VB | o
VF/DS3130 G1/4 24mm? -5-55T 0.95 f_‘,“wifs‘?“;_.
VF/DS5120 G3/8 49mm? 5557 2.50 |[slectricalconirol
VF/DS3230 G1/4 24mm? _5-55T 0.95 |so-anum
VF/DS5220 G3/8 49mm? -5-55T 20 ] [
VF/DS3330 G1/4 18mm? -5-55T 0.75 &2@:’ Acaay pR—
VF/DS5320 G3/8 30mm? _5-55T 2.00 |mp Aciov
VF/DS3430 G1/4 18mm? -5-55T 0.95 |Gmaciz™ | Acssov
VF/DS5420 G3/8 26mm? -5~-55T Eal v
VF/DS3530 G1/4 18mm? -5-55T 0.90 5,5;"55?';'
VF/DS5520 G3/8 26mm?* -5-55T EIG o=
Solenoid valve MVSC series s B R opff‘,i‘im! cviE | B3t i E %ﬁ{ﬁl
MVSCEE ;u EE& m lodal Thread size Effective area temperature Aange CV value Type Voltage pressure
MVSC220-4E1 G1/4 14mm? -5-55T 0.78 |zo=w
MVSC260-4E1 G1/4 25mm?* -5-55C 140 |sem
MVSC300-4E1 G1/2 50mm? -5-55T 2.80 |conta
MVSC220-4E2 | G1/4 14mm?* -5-55T 078 |zn=
MVSC260-4E2 Gi/4 25mm? -5-55T 1.40 &E{:‘
MVSC300-4E2 | G1/2 50mm? -5-55T 2,80 |contr —
MVSC220-4E2C | G1/4 12mm? -5-55T 0:40 [FR=s D
MENMaN
MVSC260-4E2C G1/4 18mm? -5-55T 1.00 | Double siectrica|  ACIV 0.15-0.8Mpa
MVSC300-4E2C | G1/2 30mm? _5-55T 1,68 |comemest | ACos0v
MVSC220-4E2P | G1/4 12mm? _5-55C 0.40 |gRzn ey
MVSC260-4E2P | G1/4 18mm? -5-55T 1,00 | Boctte siaciea
MVSC300-4E2P | G1/2 30mm? -5-55T EWE | coosainn tyse
MVSC220-4E2R | G1/4 12mm? -5-55T 0.40 |ERzw
MVSC260-4E2R | G1/4 18mm? -5-55C 1.00 |Bottees
MVSC300-4E2R | G1/2 30mm? _5-55T 1,68 |canmmrtre
Air control valve 3A seires @R~ %ﬁ&nﬁ CViE [wmsma e mat s ERES
3 Aﬁ F'] ‘_,‘. E ]m Modal Thread size Effective area I?angn CV value f:"::; Coil&Position p‘r’enurau
3A110-086 Gi/8 12mm? -5-55T 0.67 G1/8
3A210-08 Gi/4 16mm? -5-55T 0.89 G1/8 g
3A310-10 G3/8 30mm? -5-55TC 1.67 G1/4 S."-‘yi.‘ =
3A410-15 G1/2 30mm? -5-55T 279 | G2 control
3A120-06 G1/8 12mm? -5~55T 0.67 G1/8 — 0.15-0.8Mpa
3A220-08 G1/4 16mm? -5~55T 0.89 | G1/8 32way
3A320-10 Ga/s 30mm? -5-55C asr | G | W
3A420-15 G1/2 30mm? -5~55T 279 | G112 control
Air control valve 4A seires REALE Cham CVil |wEmu r]e Al s L L
AAR TSI Model Threadsize | Effective area {amperature Hanga | CV vaiie m"_ﬁ;; Coil&Position preslurn‘
4A110-06 G1/8 12mm? -5-60T 0.67 G1/8
4A210-08 G1/4 16mm? -5-~55T 0.89 G1/8 i
4A310-10 G3/8 30mm? -5-55T 1.68 G1/4 fsm
4A410-15 G1/2 50mm? -5-55T 2.79 G1/2 contral
4A120-06 G1/8 10mm? -5-55T 0.67 G1/8 e
4A220-08 G1/4 16mm? -5-55T 0.89 G1/8 sz way
4A320-10 G3/8 25mm? -5~55T 1.68 G1/4 i
4A420-15 G1/2 50mm? -5-55T 2.79 G1/2 control
4A130-06C G1/8 omm? -5-55T 0.50 G1/8 _—
— 4A230-08C G1/4 12mm? -5-55T 067 | G1/8 _:::. .
4A330-10C G3/8 18mm? -5-55T 1.00 G1/4 | oncwarcess
"—:_g! 4A430-15C G1/2 30mm? -5-55T 1.67 G1/2
st 4A130-06E G1/8 omm? -5-55T 0.50 G1/8 —
4A230-08E G1/4 12mm? -5-55T 0.67 G1/8 b
4A330-10E G3/8 18mm? -5-55T 1.67 G1/4 | oosesicow
4A430-15E G1/2 30mm? _5-55T 1.00 G1/2
4A130-06P G1/8 9mm? -5-55T 1.67 G1/8 snze
T
4A230-08P G1/4 12mm? -5-55C 0.67 G1/8 e
4A330-10P G3/8 18mm? -5-55T 1.00 (TR Z I ooy
4A430-15P G1/2 : -5-55T 1,67 G1/2




